

0

0

0

D

State of West Virginia Department of Administration Purchasing Division

NOTICE

Due to the size of this bid, it was impractical to scan every page for online viewing. We have made an attempt to scan and publish all pertinent bid information. However, it is important to note that some pages were necessarily omitted.

If you would like to review the bid in its entirety, please contact the buyer. Thank you.



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

REQ COPY TYPE NAME/ADDRESS HERE VWR INTERNATIONAL, LLC 1050 SATELLITE BLVD SUWANEE, GEORGIA 30024

Solicitation

NUMBER LABSUP13 PAGE 1

AGDRESS CONNESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATÉ PRINTED 01/03/2013 01:30PH BID OPENING TIME BID OPENING DATE: 01/31/2013 AMOUNT. ITEM NUMBER UNIT:PRIOE YTITHAUP יוסט ADDENDUM NO. SEE ATTACHED PAGES. END OF ADDENDUM NO. 1 175-00-00-001 0001 EΛ SUPPLIES: LAB (GLASS/PLASTICWARE, CHEMICALS, ETC.) \$3,632,532.32 LABSUP13 ***** TOTAL: THIS IS THE END OF REQ ***** DATE TELEPHONE SIGNATURE 800-932-5000 2/8/2013 ADDRESS CHANGES TO BE NOTED ABOVE 56-2445503 QVotos&Contracts Admin

WHEN RESPONDING TO SOLICITATION, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'



OATE PRINTED

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Solicitation

Ŋυ	MBE	Α	
	BS		

NAGE.	
1	

TARA LYLE

ADDRESS CONNESPONDENCE TO ATTENTION OF 304-558-2544

RFQ COPY TYPE NAME/ADDRESS HERE

VARIOUS AGENCY LOCALES AS INDICATED BELOW

12/13/201 BID OPENING DATE: 01/17/2013 OPENING TIME LINE QUANTITY. YOP ITEM NUMBER UNIT PRICE THUOMA 0001 1.75-00-00-001 EA SUPPLIES: LAB (GLASS/FLASTICWARE, CHEMICALS, ETC.) SHIP TO : ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER BLANKET OPEN-END CONTRACT SWC -/07/13 08:13:52 AM THE PURCHASING DIVISION IS SOLICITING BIDS FOR A BLANKET OPEN END STATEWIDE CONTRACT TO FURNISH LABORATORY SUPPLIES TO ALL WEST VIRGINIA STATE AGENCIES AND POLIFICAL SUBDIVSIONS, PER THE ATTACHED SPECIFICATIONS. ATTACHMENTS INCLUDE: INSTRUCTIONS TO VENDORS SUBMITTING BIDS GENERAL FERMS AND CONDITIONS LABSUP13 SPECIFICATIONS CERTIFICATION AND SIGNATURE PAGE PURCHASING AFFIDAVET RESIDENT VENDOR PREFERENCE FORM PLEASE NOTE: PRICING PAGES WILL BE ISSUED BY SEPARATE ADDENDUM. * * SIGNATURE ELEPHONE 800-932-5000 DATE 2/8/2013 Dir-Quotes&Contracts Admin 56-2445506 ADDRESS CHANGES TO BE NOTED ABOVE WHEN RESPONDING TO SOLICITATION, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

INSTRUCTIONS TO VENDORS SUBMITTING BIDS

- REVIEW DOCUMENTS THOROUGHLY: The attached documents contain a solicitation for bids.
 Please read these instructions and all documents attached in their entirety. These instructions provide
 critical information about requirements that if overlooked could lead to disqualification of a Vendor's
 bid. All bids must be submitted in accordance with the provisions contained in these instructions and
 the Solicitation. Failure to do so may result in disqualification of Vendor's bid.
- 2. MANDATORY TERMS: The Solicitation may contain mandatory provisions identified by the use of the words "must," "will," and "shall." Failure to comply with a mandatory term in the Solicitation will result in bid disqualification.

PREI	BID MEETING: The item identified below shall apply to this Solicitation.
[🗸]	A pre-bid meeting will not be held prior to bid opening.
[]	A NON-MANDATORY PRE-BID meeting will be held at the following place and time:
[]	A MANDATORY PRE-BID meeting will be held at the following place and time:

All Vendors submitting a bid must attend the mandatory pre-bid meeting. Failure_to attend the mandatory pre-bid meeting shall result in disqualification of the Vendor's bid. No one person attending the pre-bid meeting may represent more than one Vendor.

An attendance sheet provided at the pre-bid meeting shall serve as the official document verifying attendance. The State will not accept any other form of proof or documentation to verify attendance. Any person attending the pre-bid meeting on behalf of a Vendor must list on the attendance sheet his or her name and the name of the Vendor he or she is representing. Additionally, the person attending the pre-bid meeting should include the Vendor's E-Mail address, phone number, and Fax number on the attendance sheet. It is the Vendor's responsibility to locate the attendance sheet and provide the required

3.

information. Failure to complete the attendance sheet as required may result in disqualification of Vendor's bid.

All Vendors should arrive prior to the starting time for the pre-bid. Vendors who arrive after the starting time but prior to the end of the pre-bid will be permitted to sign in, but are charged with knowing all matters discussed at the pre-bid.

Questions submitted at least five business days prior to a scheduled pre-bid will be discussed at the pre-bid meeting if possible. Any discussions or answers to questions at the pre-bid meeting are preliminary in nature and are non-binding. Official and binding answers to questions will be published in a written addendum to the Solicitation prior to bid opening.

4. VENDOR QUESTION DEADLINE: Vendors may submit questions relating to this Solicitation to the Purchasing Division. Questions must be submitted in writing. All questions must be submitted on or before the date listed below and to the address listed below in order to be considered. A written response will be published in a Solicitation addendum if a response is possible and appropriate. Non-written discussions, conversations, or questions and answers regarding this Solicitation are preliminary in nature and are non-binding.

Question Submission Deadline: January 3, 2013 at 5:00 pm

Submit Questions to: Tara Lyle, File 32
2019 Washington Street, East
P.O. Box 50130
Charleston, WV 25305

Fax: 304-558-4115 Email: Tara.L.Lyle@wv.gov

- 5. VERBAL COMMUNICATION: Any verbal communication between the Vendor and any State personnel is not binding, including that made at the mandatory pre-bid conference. Only information issued in writing and added to the Solicitation by an official written addendum by the Purchasing Division is binding.
- 6. BID SUBMISSION: All bids must be signed and delivered by the Vendor to the Purchasing Division at the address listed below on or before the date and time of the bid opening. Any bid received by the Purchasing Division staff is considered to be in the possession of the Purchasing Division and will not be returned for any reason. The bid delivery address is:

Department of Administration, Purchasing Division 2019 Washington Street East P.O. Box 50130, Charleston, WV 25305-0130

		below on the face of the envelope or the bid may not be
	BID OPENING DA BID OPENING TIN	IO.: NTE: ME:
	technical and one original cost proposal plus	quest for proposal, the Vendor shall submit one original n/a convenience copies of each to the Purchasing onally, the Vendor should identify the bid type as either a bid envelope submitted in response to a request for
		Technical Cost
7.	"1 it ad balance on the date and time listed h	nonse to this Solicitation will be opened at the location below. Delivery of a bid after the bid opening date and time uses of this Solicitation, a bid is considered delivered when sion time clock.
	Bid Opening Date and Time:	January 17, 2013 at 1:30 pm
	SW Spanis	Department of Administration, Purchasing Division 2019 Washington Street East P.O. Box 50130, Charleston, WV 25305-0130
8.	ADDENDUM ACKNOWLEDGEMENT:	Changes or revisions to this Solicitation will be made by

- 8. ADDENDUM ACKNOWLEDGEMENT: Changes or revisions to this Solicitation will be made by an official written addendum issued by the Purchasing Division. Vendor should acknowledge receipt of all addenda issued with this Solicitation by completing an Addendum Acknowledgment Form, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.
- BID FORMATTING: Vendor should type or electronically enter the information onto its bid to
 prevent errors in the evaluation. Failure to type or electronically enter the information may result
 in bid disqualification.

GENERAL TERMS AND CONDITIONS:

- CONTRACTUAL AGREEMENT: Issuance of a Purchase Order signed by the Purchasing Division
 Director, or his designee, and approved as to form by the Attorney General's office constitutes
 acceptance of this Contract made by and between the State of West Virginia and the Vendor. Vendor's
 signature on its bid signifies Vendor's agreement to be bound by and accept the terms and conditions
 contained in this Contract.
- 2. DEFINITIONS: As used in this Solicitation / Contract, the following terms shall have the meanings attributed to them below. Additional definitions may be found in the specifications included with this Solicitation / Contract.
 - 2.1 "Agency" or "Agencies" means the agency, board, commission, or other entity of the State of West Virginia that is identified on the first page of the Solicitation or any other public entity seeking to procure goods or services under this Contract.
 - 2.2 "Contract" means the binding agreement that is entered into between the State and the Vendor to provide the goods and services requested in the Solicitation.
 - 2.3 "Director" means the Director of the West Virginia Department of Administration, Purchasing Division.
 - 2.4 "Purchasing Division" means the West Virginia Department of Administration, Purchasing Division.
 - 2.5 "Purchase Order" means the document signed by the Agency and the Purchasing Division, and approved as to form by the Attorney General, that identifies the Vendor as the successful bidder and Contract holder.
 - 2.6 "Solicitation" means the official solicitation published by the Purchasing Division and identified by number on the first page thereof.
 - 2.7 "State" means the State of West Virginia and/or any of its agencies, commissions, boards, etc. as context requires.
 - 2.8 "Vendor" or "Vendors" means any entity submitting a bid in response to the Solicitation, the entity that has been selected as the lowest responsible bidder, or the entity that has been awarded the Contract as context requires.

			£,
3.	CO	NT orda	RACT TERM; RENEWAL; EXTENSION: The term of this Contract shall be determined in more with the category that has been identified as applicable to this Contract below:
	1		Term Contract
			Initial Contract Term: This Contract becomes effective on award
			and extends for a period of one (1) year(s).
			Renewal Term: This Contract may be renewed upon the mutual written consent of the Agency, and the Vendor, with approval of the Purchasing Division and the Attorney General's office (Attorney General approval is as to form only). Any request for renewal must be submitted to the Purchasing Division Director thirty (30) days prior to the expiration date of the initial contract term or appropriate renewal term. A Contract renewal shall be in accordance with the terms and conditions of the original contract. Renewal of this Contract is limited to two (2) successive one (1) year periods. Automatic renewal of this Contract is prohibited. Notwithstanding the foregoing, Purchasing Division approval is not required on agency delegated or exempt purchases. Attorney General approval may be required for vendor terms and conditions.
			Reasonable Time Extension: At the sole discretion of the Purchasing Division Director, and with approval from the Attorney General's office (Attorney General approval is as to form only), this Contract may be extended for a reasonable time after the initial Contract term or after any renewal term as may be necessary to obtain a new contract or renew this Contract. Any reasonable time extension shall not exceed twelve (12) months. Vendor may avoid a reasonable time extension by providing the Purchasing Division Director with written notice of Vendor's desire to terminate this Contract 30 days prior to the expiration of the then current term. During any reasonable time extension period, the Vendor may terminate this Contract for any reason upon giving the Purchasing Division Director 30 days written notice. Automatic extension of this Contract is prohibited. Notwithstanding the foregoing, Purchasing Division approval is not required on agency delegated or exempt purchases, but Attorney General approval may be required.
	1	1	Fixed Period Contract: This Contract becomes effective upon Vendor's receipt of the notice to proceed and must be completed withindays.
		1	One Time Purchase: The term of this Contract shall run for one year from the date the Purchase Order is issued or from the date the Purchase Order is issued until all of the goods contracted for have been delivered, whichever is shorter.
	ı	1	Other: See attached.

- 4. NOTICE TO PROCEED: Vendor shall begin performance of this Contract immediately upon receiving notice to proceed unless otherwise instructed by the Agency. Unless otherwise specified, the fully executed Purchase Order will be considered notice to proceed
- QUANTITIES: The quantities required under this Contract shall be determined in accordance with the category that has been identified as applicable to this Contract below.
 - Open End Contract: Quantities listed in this Solicitation are approximations only, based on estimates supplied by the Agency. It is understood and agreed that the Contract shall cover the quantities actually ordered for delivery during the term of the Contract, whether more or less than the quantities shown.
 - | Service: The scope of the service to be provided will be more clearly defined in the specifications included herewith.
 - [| Combined Service and Goods: The scope of the service and deliverable goods to be provided will be more clearly defined in the specifications included herewith.
 - One Time Purchase: This Contract is for the purchase of a set quantity of goods that are identified in the specifications included herewith. Once those items have been delivered, no additional goods may be procured under this Contract without an appropriate change order approved by the Vendor, Agency, Purchasing Division, and Attorney General's office.
- 6. PRICING: The pricing set forth herein is firm for the life of the Contract, unless specified elsewhere within this Solicitation/Contract by the State. A Vendor's inclusion of price adjustment provisions in its bid, without an express authorization from the State in the Solicitation to do so, may result in bid disqualification.
- 7. EMERGENCY PURCHASES: The Purchasing Division Director may authorize the Agency to purchase goods or services in the open market that Vendor would otherwise provide under this Contract if those goods or services are for immediate or expedited delivery in an emergency. Emergencies shall include, but are not limited to, delays in transportation or an unanticipated increase in the volume of work. An emergency purchase in the open market, approved by the Purchasing Division Director, shall not constitute of breach of this Contract and shall not entitle the Vendor to any form of compensation or damages. This provision does not excuse the State from fulfilling its obligations under a One Time Purchase contract.
- REQUIRED DOCUMENTS: All of the items checked below must be provided to the Purchasing Division by the Vendor as specified below.
 - BID BOND: All Vendors shall furnish a bid bond in the amount of five percent (5%) of the total amount of the bid protecting the State of West Virginia. The bid bond must be submitted with the bid.

1	1	in the a	amount and rec	NCE BOND: The apparent successful Vendor shall provide a performance bond of The performance bond must be ceived by the Purchasing Division prior to Contract award. On construction performance bond must be 100% of the Contract value.
1	1	labor/m	naterial	TERIAL PAYMENT BOND: The apparent successful Vendor shall provide a payment bond in the amount of 100% of the Contract value. The labor/material must be issued and delivered to the Purchasing Division prior to Contract award.
cer or san lab	tific irre ne or/i	ed check vocable l schedule	es, cashi letter of as the paymen	d, Performance Bond, and Labor/Material Payment Bond, the Vendor may provide ier's checks, or irrevocable letters of credit. Any certified check, cashier's check, feredit provided in lieu of a bond must be of the same amount and delivered on the bond it replaces. A letter of credit submitted in lieu of a performance and int bond will only be allowed for projects under \$100,000. Personal or business able.
ı	1	mainter	nance b	NCE BOND: The apparent successful Vendor shall provide a two (2) year bond covering the roofing system. The maintenance bond must be issued and e Purchasing Division prior to Contract award.
1	1			COMPENSATION INSURANCE: The apparent successful Vendor shall have orkers' compensation insurance and shall provide proof thereof upon request.
ı	ı			: The apparent successful Vendor shall furnish proof of the following insurance act award:
		1	1.	Commercial General Liability Insurance: or more.
		1	1	Builders Risk Insurance: builders risk – all risk insurance in an amount equal to 100% of the amount of the Contract.
		1	1	·
		I	1	
		I	1	
		1	l	
		I	1	

The apparent successful Vendor shall also furnish proof of any additional insurance requirements contained in the specifications prior to Contract award regardless of whether or not that insurance requirement is listed above.

١	LICENSE(S) / CERTIFICATIONS / PERMITS: In addition to anything required under the Section entitled Licensing, of the General Terms and Conditions, the apparent successful Vendor shall furnish proof of the following licenses, certifications, and/or permits prior to Contract award, in a form acceptable to the Purchasing Division.

l	1	
1	1	
[1	
I	1	
		W 8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

The apparent successful Vendor shall also furnish proof of any additional licenses or certifications contained in the specifications prior to Contract award regardless of whether or not that requirement is listed above.

- 9. LITIGATION BOND: The Director reserves the right to require any Vendor that files a protest of an award to submit a litigation bond in the amount equal to one percent of the lowest bid submitted or \$5,000, whichever is greater. The entire amount of the bond shall be forfeited if the hearing officer determines that the protest was filed for frivolous or improper purpose, including but not limited to, the purpose of harassing, causing unnecessary delay, or needless expense for the Agency. All litigation bonds shall be made payable to the Purchasing Division. In lieu of a bond, the protester may submit a cashier's check or certified check payable to the Purchasing Division. Cashier's or certified checks will be deposited with and held by the State Treasurer's office. If it is determined that the protest has not been filed for frivolous or improper purpose, the bond or deposit shall be returned in its entirety.
- 10. ALTERNATES: Any model, brand, or specification listed herein establishes the acceptable level of quality only and is not intended to reflect a preference for, or in any way favor, a particular brand or vendor. Vendors may bid alternates to a listed model or brand provided that the alternate is at least equal to the model or brand and complies with the required specifications. The equality of any alternate being bid shall be determined by the State at its sole discretion. Any Vendor bidding an alternate model or brand should clearly identify the alternate items in its bid and should include manufacturer's specifications, industry literature, and/or any other relevant documentation demonstrating the equality of the alternate items. Failure to provide information for alternate items may be grounds for rejection of a Vendor's bid.
- 11. EXCEPTIONS AND CLARIFICATIONS: The Solicitation contains the specifications that shall form the basis of a contractual agreement. Vendor shall clearly mark any exceptions, clarifications, or

other proposed modifications in its bid. Exceptions to, clarifications of, or modifications of a requirement or term and condition of the Solicitation may result in bid disqualification.

2. LIQUIDATE	D DAMAGES:	Vendor shall p	ay liquidat	ed damages i	n the amoun		
			for				
COLL 1	11 1	annidovad aval	ucive and	hall not limi	t the State or	Agency's	right to pursu

This clause shall in no way be considered exclusive and shall not limit the State or Agency's right to pursue any other available remedy.

- 13. ACCEPTANCE/REJECTION: The State may accept or reject any bid in whole, or in part. Vendor's signature on its bid signifies acceptance of the terms and conditions contained in the Solicitation and Vendor agrees to be bound by the terms of the Contract, as reflected in the Purchase Order, upon receipt.
- 14. REGISTRATION: Prior to Contract award, the apparent successful Vendor must be properly registered with the West Virginia Purchasing Division and must have paid the \$125 fee if applicable.
- 15. COMMUNICATION LIMITATIONS: In accordance with West Virginia Code of State Rules §148-1-6.6, communication with the State of West Virginia or any of its employees regarding this Solicitation during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited without prior Purchasing Division approval. Purchasing Division approval for such communication is implied for all agency delegated and exempt purchases.
- 16. FUNDING: This Contract shall continue for the term stated herein, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise made available, this Contract becomes void and of no effect beginning on July 1 of the fiscal year for which funding has not been appropriated or otherwise made available.
- 17. PAYMENT: Payment in advance is prohibited under this Contract. Payment may only be made after the delivery and acceptance of goods or services. The Vendor shall submit invoices, in arrears, to the Agency at the address on the face of the purchase order labeled "Invoice To."
- 18. UNIT PRICE: Unit prices shall prevail in cases of a discrepancy in the Vendor's bid.
- 19. DELIVERY: All quotations are considered freight on board destination ("F.O.B. destination") unless alternate shipping terms are clearly identified in the bid. Vendor's listing of shipping terms that contradict the shipping terms expressly required by this Solicitation may result in bid disqualification.
- 20. INTEREST: Interest attributable to late payment will only be permitted if authorized by the West Virginia Code. Presently, there is no provision in the law for interest on late payments.
- 21. PREFERENCE: Vendor Preference may only be granted upon written request and only in accordance with the West Virginia Code § 5A-3-37 and the West Virginia Code of State Rules. A Resident Vendor Certification form has been attached hereto to allow Vendor to apply for the preference. Vendor's

- failure to submit the Resident Vendor Certification form with its bid will result in denial of Vendor Preference. Vendor Preference does not apply to construction projects.
- 22. SMALL, WOMEN-OWNED, OR MINORITY-OWNED BUSINESSES: For any solicitations publicly advertised for bid on or after July 1, 2012, in accordance with West Virginia Code §5A-3-37(a)(7) and W. Va. CSR § 148-22-9, any non-resident vendor certified as a small, women-owned, or minority-owned business under W. Va. CSR § 148-22-9 shall be provided the same preference made available to any resident vendor. Any non-resident small, women-owned, or minority-owned business must identify itself as such in writing, must submit that writing to the Purchasing Division with its bid, and must be properly certified under W. Va. CSR § 148-22-9 prior to submission of its bid to receive the preferences made available to resident vendors. Preference for a non-resident small, women-owned, or minority owned business shall be applied in accordance with W. Va. CSR § 148-22-9.
- 23. TAXES: The Vendor shall pay any applicable sales, use, personal property or any other taxes arising out of this Contract and the transactions contemplated thereby. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 24. CANCELLATION: The Purchasing Division Director reserves the right to cancel this Contract immediately upon written notice to the vendor if the materials or workmanship supplied do not conform to the specifications contained in the Contract. The Purchasing Division Director may cancel any purchase or Contract upon 30 days written notice to the Vendor in accordance with West Virginia Code of State Rules § 148-1-7.16.2.
- 25. WAIVER OF MINOR IRREGULARITIES: The Director reserves the right to waive minor irregularities in bids or specifications in accordance with West Virginia Code of State Rules § 148-1-4.6.
- 26, TIME: Time is of the essence with regard to all matters of time and performance in this Contract.
- 27. APPLICABLE LAW: This Contract is governed by and interpreted under West Virginia law without giving effect to its choice of law principles. Any information provided in specification manuals, or any other source, verbal or written, which contradicts or violates the West Virginia Constitution, West Virginia Code or West Virginia Code of State Rules is void and of no effect.
- 28. COMPLIANCE: Vendor shall comply with all applicable federal, state, and local laws, regulations and ordinances. By submitting a bid, Vendors acknowledge that they have reviewed, understand, and will comply with all applicable law.
- 29. PREVAILING WAGE: On any contract for the construction of a public improvement, Vendor and any subcontractors utilized by Vendor shall pay a rate or rates of wages which shall not be less than the fair minimum rate or rates of wages (prevailing wage), as established by the West Virginia Division of and available Virginia Code 21-5A-1 ct seq. West 88 Labor under http://www.sos.wv.gov/administrative-law/wagerates/Pages/default.aspx. Vendor shall be responsible for ensuring compliance with prevailing wage requirements and determining when prevailing wage

- requirements are applicable. The required contract provisions contained in West Virginia Code of State Rules § 42-7-3 are specifically incorporated herein by reference.
- 30. ARBITRATION: Any references made to arbitration contained in this Contract, Vendor's bid, or in any American Institute of Architects documents pertaining to this Contract are hereby deleted, void, and of no effect.
- 31. MODIFICATIONS: This writing is the parties' final expression of intent. Notwithstanding anything contained in this Contract to the contrary, no modification of this Contract shall be binding without mutual written consent of the Agency, and the Vendor, with approval of the Purchasing Division and the Attorney General's office (Attorney General approval is as to form only). No Change shall be implemented by the Vendor until such time as the Vendor receives an approved written change order from the Purchasing Division.
- 32. WAIVER: The failure of either party to insist upon a strict performance of any of the terms or provision of this Contract, or to exercise any option, right, or remedy herein contained, shall not be construed as a waiver or a relinquishment for the future of such term, provision, option, right, or remedy, but the same shall continue in full force and effect. Any waiver must be expressly stated in writing and signed by the waiving party.
- 33. SUBSEQUENT FORMS: The terms and conditions contained in this Contract shall supersede any and all subsequent terms and conditions which may appear on any form documents submitted by Vendor to the Agency or Purchasing Division such as price lists, order forms, invoices, sales agreements, or maintenance agreements, and includes internet websites or other electronic documents. Acceptance or use of Vendor's forms does not constitute acceptance of the terms and conditions contained thereon.
- 34. ASSIGNMENT: Neither this Contract nor any monies due, or to become due hereunder, may be assigned by the Vendor without the express written consent of the Agency, the Purchasing Division, the Attorney General's office (as to form only), and any other government agency or office that may be required to approve such assignments. Notwithstanding the foregoing, Purchasing Division approval may or may not be required on certain agency delegated or exempt purchases.
- 35. WARRANTY: The Vendor expressly warrants that the goods and/or services covered by this Contract will: (a) conform to the specifications, drawings, samples, or other description furnished or specified by the Agency; (b) be merchantable and fit for the purpose intended; and (c) be free from defect in material and workmanship.
- 36. STATE EMPLOYEES: State employees are not permitted to utilize this Contract for personal use and the Vendor is prohibited from permitting or facilitating the same.
- 37. BANKRUPTCY: In the event the Vendor files for bankruptcy protection, the State of West Virginia may deem this Contract null and void, and terminate this Contract without notice.

- 38. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at http://www.state.wv.us/admin/purchase/vrc/hipaa.html and is hereby made part of the agreement provided that the Agency meets the definition of a Covered entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the Vendor.
- 39. CONFIDENTIALITY: The Vendor agrees that it will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the Agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the Agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.statc.wv.us/admin/purchase/privacy/default.html.
- 40. DISCLOSURE: Vendor's response to the Solicitation and the resulting Contract are considered public documents and will be disclosed to the public in accordance with the laws, rules, and policies governing the West Virginia Purchasing Division. Those laws include, but are not limited to, the Freedom of Information Act found in West Virginia Code § 29B-1-1 et seq.
 - If a Vendor considers any part of its bid to be exempt from public disclosure, Vendor must so indicate by specifically identifying the exempt information, identifying the exemption that applies, providing a detailed justification for the exemption, segregating the exempt information from the general bid information, and submitting the exempt information as part of its bid but in a segregated and clearly identifiable format. Failure to comply with the foregoing requirements will result in public disclosure of the Vendor's bid without further notice. A Vendor's act of marking all or nearly all of its bid as exempt is not sufficient to avoid disclosure and WILL NOT BE HONORED. Vendor's act of marking a bid or any part thereof as "confidential" or "proprietary" is not sufficient to avoid disclosure and WILL NOT BE HONORED. In addition, a legend or other statement indicating that all or substantially all of the bid is exempt from disclosure is not sufficient to avoid disclosure and WILL NOT BE HONORED. Vendor will be required to defend any claimed exemption for nondiclosure in the event of an administrative or judicial challenge to the State's nondisclosure. Vendor must indemnify the State for any costs incurred related to any exemptions claimed by Vendor. Any questions regarding the applicability of the various public records laws should be addressed to your own legal counsel prior to bid submission.
- 41. LICENSING: In accordance with West Virginia Code of State Rules §148-1-6.1.7, Vendor must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agency or political subdivision. Upon request, the Vendor must provide all necessary releases to obtain information to enable the Purchasing Division Director or the Agency to verify that the Vendor is licensed and in good standing with the above entities.

- 42. ANTITRUST: In submitting a bid to, signing a contract with, or accepting a Purchase Order from any agency of the State of West Virginia, the Vendor agrees to convey, sell, assign, or transfer to the State of West Virginia all rights, title, and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to Vendor.
- 43. VENDOR CERTIFICATIONS: By signing its bid or entering into this Contract, Vendor certifies (1) that its bid was made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, person or entity submitting a bid for the same material, supplies, equipment or services; (2) that its bid is in all respects fair and without collusion or fraud; (3) that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; and (4) that it has reviewed this RFQ in its entirety; understands the requirements, terms and conditions, and other information contained herein. Vendor's signature on its bid also affirms that neither it nor its representatives have any interest, nor shall acquire any interest, direct or indirect, which would compromise the performance of its services hereunder. Any such interests shall be promptly presented in detail to the Agency.

The individual signing this bid on behalf of Vendor certifies that he or she is authorized by the Vendor to execute this bid or any documents related thereto on Vendor's behalf; that he or she is authorized to bind the Vendor in a contractual relationship; and that, to the best of his or her knowledge, the Vendor has properly registered with any State agency that may require registration.

- 44. PURCHASING CARD ACCEPTANCE: The State of West Virginia currently utilizes a Purchasing Card program, administered under contract by a banking institution, to process payment for goods and services. The Vendor must accept the State of West Virginia's Purchasing Card for payment of all orders under this Contract unless the box below is checked.
 - Vendor is not required to accept the State of West Virginia's Purchasing Card as payment for all goods and services.
- 45. VENDOR RELATIONSHIP: The relationship of the Vendor to the State shall be that of an independent contractor and no principal-agent relationship or employer-employee relationship is contemplated or created by this Contract. The Vendor as an independent contractor is solely liable for the acts and omissions of its employees and agents. Vendor shall be responsible for selecting, supervising, and compensating any and all individuals employed pursuant to the terms of this Solicitation and resulting contract. Neither the Vendor, nor any employees or subcontractors of the Vendor, shall be deemed to be employees of the State for any purpose whatsoever. Vendor shall be exclusively responsible for payment of employees and contractors for all wages and salaries, taxes, withholding payments, penalties, fees, fringe benefits, professional liability insurance premiums, contributions to insurance and pension, or other deferred compensation plans, including but not limited to, Workers' Compensation and Social Security obligations, licensing fees, etc. and the filing of all necessary documents, forms and returns pertinent to all of the foregoing. Vendor shall hold harmless the

State, and shall provide the State and Agency with a defense against any and all claims including, but not limited to, the foregoing payments, withholdings, contributions, taxes, Social Security taxes, and employer income tax returns.

- 46. INDEMNIFICATION: The Vendor agrees to indemnify, defend, and hold harmless the State and the Agency, their officers, and employees from and against: (1) Any claims or losses for services rendered by any subcontractor, person, or firm performing or supplying services, materials, or supplies in connection with the performance of the Contract; (2) Any claims or losses resulting to any person or entity injured or damaged by the Vendor, its officers, employees, or subcontractors by the publication, translation, reproduction, delivery, performance, use, or disposition of any data used under the Contract in a manner not authorized by the Contract, or by Federal or State statutes or regulations; and (3) Any failure of the Vendor, its officers, employees, or subcontractors to observe State and Federal laws including, but not limited to, labor and wage and hour laws.
- 47. PURCHASING AFFIDAVIT: In accordance with West Virginia Code § 5A-3-10a, all Vendors are required to sign, notarize, and submit the Purchasing Affidavit stating that neither the Vendor nor a related party owe a debt to the State in excess of \$1,000. The affidavit must be submitted prior to award, but should be submitted with the Vendor's bid. A copy of the Purchasing Affidavit is included herewith.
- 48. ADDITIONAL AGENCY AND LOCAL GOVERNMENT USE: This Contract may be utilized by and extends to other agencies, spending units, and political subdivisions of the State of West Virginia; county, municipal, and other local government bodies; and school districts ("Other Government Entities"). This Contract shall be extended to the aforementioned Other Government Entities on the same prices, terms, and conditions as those offered and agreed to in this Contract. If the Vendor does not wish to extend the prices, terms, and conditions of its bid and subsequent contract to the Other Government Entities, the Vendor must clearly indicate such refusal in its bid. A refusal to extend this Contract to the Other Government Entities shall not impact or influence the award of this Contract in any manner.
- 49. CONFLICT OF INTEREST: Vendor, its officers or members or employees, shall not presently have or acquire any interest, direct or indirect, which would conflict with or compromise the performance of its obligations hereunder. Vendor shall periodically inquire of its officers, members and employees to ensure that a conflict of interest does not arise. Any conflict of interest discovered shall be promptly presented in detail to the Agency.
- 50. REPORTS: Vendor shall provide the Agency and/or the Purchasing Division with the following reports identified by a checked box below:
 - Such reports as the Agency and/or the Purchasing Division may request. Requested reports may include, but are not limited to, quantities purchased, agencies utilizing the contract, total contract expenditures by agency, etc.

- Quarterly reports detailing the total quantity of purchases in units and dollars, along with a listing of purchases by agency. Quarterly reports should be delivered to the Purchasing Division via email at purchasing.requisitions@wv.gov.
- 51. BACKGROUND CHECK: In accordance with W. Va. Code § 15-2D-3, the Director of the Division of Protective Services shall require any service provider whose employees are regularly employed on the grounds or in the buildings of the Capitol complex or who have access to sensitive or critical information to submit to a fingerprint-based state and federal background inquiry through the state repository. The service provider is responsible for any costs associated with the fingerprint-based state and federal background inquiry.

After the contract for such services has been approved, but before any such employees are permitted to be on the grounds or in the buildings of the Capitol complex or have access to sensitive or critical information, the service provider shall submit a list of all persons who will be physically present and working at the Capitol complex to the Director of the Division of Protective Services for purposes of verifying compliance with this provision.

The State reserves the right to prohibit a service provider's employees from accessing sensitive or critical information or to be present at the Capitol complex based upon results addressed from a criminal background check.

Service providers should contact the West Virginia Division of Protective Services by phone at (304) 558-9911 for more information.

- 52. PREFERENCE FOR USE OF DOMESTIC STEEL PRODUCTS: Except when authorized by the Director of the Purchasing Division pursuant to W. Va. Code § 5A-3-56, no contractor may use or supply steel products for a State Contract Project other than those steel products made in the United States. A contractor who uses steel products in violation of this section may be subject to civil penalties pursuant to W. Va. Code § 5A-3-56. As used in this section:
 - a. "State Contract Project" means any erection or construction of, or any addition to, alteration of or other improvement to any building or structure, including, but not limited to, roads or highways, or the installation of any heating or cooling or ventilating plants or other equipment, or the supply of and materials for such projects, pursuant to a contract with the State of West Virginia for which bids were solicited on or after June 6, 2001.
 - b. "Steel Products" means products rolled, formed, shaped, drawn, extruded, forged, cast, fabricated or otherwise similarly processed, or processed by a combination of two or more or such operations, from steel made by the open heath, basic oxygen, electric furnace, Bessemer or other steel making process.

The Purchasing Division Director may, in writing, authorize the use of foreign steel products if:

a. The cost for each contract item used does not exceed one tenth of one percent (.1%) of the total

contract cost or two thousand five hundred dollars (\$2,500.00), whichever is greater. For the purposes of this section, the cost is the value of the steel product as delivered to the project; or

- b. The Director of the Purchasing Division determines that specified steel materials are not produced in the United States in sufficient quantity or otherwise are not reasonably available to meet contract requirements.
- 53. PREFERENCE FOR USE OF DOMESTIC ALUMINUM, GLASS, AND STEEL: In Accordance with W. Va. Code § 5-19-1 et seq., and W. Va. CSR § 148-10-1 et seq., for every contract or subcontract, subject to the limitations contained herein, for the construction, reconstruction, alteration, repair, improvement or maintenance of public works or for the purchase of any item of machinery or equipment to be used at sites of public works, only domestic aluminum, glass or steel products shall be supplied unless the spending officer determines, in writing, after the receipt of offers or bids, (1) that the cost of domestic aluminum, glass or steel products is unreasonable or inconsistent with the public interest of the State of West Virginia, (2) that domestic aluminum, glass or steel products are not produced in sufficient quantities to meet the contract requirements, or (3) the available domestic aluminum, glass, or steel do not meet the contract specifications. This provision only applies to public works contracts awarded in an amount more than fifty thousand dollars (\$50,000) or public works contracts that require more than ten thousand pounds of steel products.

The cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than twenty percent (20%) of the bid or offered price for foreign made aluminum, glass, or steel products. If the domestic aluminum, glass or steel products to be supplied or produced in a "substantial labor surplus area", as defined by the United States Department of Labor, the cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than thirty percent (30%) of the bid or offered price for foreign made aluminum, glass, or steel products.

This preference shall be applied to an item of machinery or equipment, as indicated above, when the item is a single unit of equipment or machinery manufactured primarily of aluminum, glass or steel, is part of a public works contract and has the sole purpose or of being a permanent part of a single public works project. This provision does not apply to equipment or machinery purchased by a spending unit for use by that spending unit and not as part of a single public works project.

All bids and offers including domestic aluminum, glass or steel products that exceed bid or offer prices including foreign aluminum, glass or steel products after application of the preferences provided in this provision may be reduced to a price equal to or lower than the lowest bid or offer price for foreign aluminum, glass or steel products plus the applicable preference. If the reduced bid or offer prices are made in writing and supersede the prior bid or offer prices, all bids or offers, including the reduced bid or offer prices, will be reevaluated in accordance with this rule.

LABSUP13

I. PURPOSE AND SCOPE:

The West Virginia Purchasing Division, on behalf of the State, is soliciting bids to establish a contract for laboratory supplies. The Contract awarded from this RFQ shall cover Eligible Items from Vendor's Catalogue. The Contract may be utilized by West Virginia State agencies and all political subdivisions of the State in all 55 counties.

II. <u>DEFINITIONS:</u>

The terms listed below shall have the meanings assigned to them as follows:

- 1. "Agency" or "Agencies" means any public entity seeking to procure Eligible Items under this Contract.
 - "Catalogue" means the price list or sales catalogue that includes all items that Vendor can and will sell under this Contract.
 - 3. "Catalogue Price" means the lowest price listed for an Eligible Item in Vendor's Catalogue. (Ex. A box of 200 tissues priced at \$4.00 per box has a catalogue price of \$4.00. A crate of tissues boxes priced at \$400.00 (\$4.00 per box) has a catalogue price of \$400.00).
 - 4. "Units Provided for Catalogue Price" means the total number of units of an Eligible Item contained in package advertised in Vendor's Catalogue. (Ex. A box of 200 tissues advertised in vendor's catalogue has a Units Provided for Catalogue Price of 200. If the vendor sells tissues in crates of 100 boxes each containing 200 tissues then the Units Provided for Catalogue Price is 20,000.
 - 5. "Contract" means the binding agreement that is entered into between the Purchasing Division, on behalf of the State, and the Vendor to provide the Eligible Items as specified herein.
 - 6. "Discount Percentage" means the percentage discount that Vendor will apply to all Agency purchases of Eligible Items in a given product category
 - "Discounted Unit Price" means the discounted price of one Unit of an Eligible Item purchased under this Contract. The Discounted Unit Price will only be used for evaluation purposes.

LABSUP13

- 8. "Discounted Price" means the price that the Vendor will charge Agencies for the purchase of Eligible Items under this Contract. The Discounted Price is the Catalogue Price reduced by the Discount Percentage.
- "Eligible Item" means any medical supplies in the Vendor's Catalogue, excluding anything already included on a pre-existing contract held by the State. Incontinence products, latex gloves, and lab supplies are specifically excluded from the definition of Eligible Items under this LABSUP13 Contract.
- 10. "Pricing Pages" means the schedule of prices, Discount Percentages, totals, and other information attached hereto as Exhibit A and used to evaluate the RFQ.
- 11. "Purchasing Division" means the West Virginia Department of Administration, Purchasing Division.
- 12. "RFQ" means the official RFQ published by the Purchasing Division and identified as LABSUP13.
- 13. "State" means the State of West Virginia and/or any of its agencies, commissions, boards, etc.
- 14. "Total Bid Cost" means the sum of the bid total column on the Pricing Pages shown below the bid total column and identified as the total bid cost.
- 15. "Unit" means the smallest practical measurable amount of an Eligible Item and is identified on the Pricing Pages in the Unit column. The Unit will only be utilized for bid evaluation purposes.
- 16. "Unit Price" means the price of an individual unit of an Eligible Item as shown on the Pricing Pages.
- 17. "Vendor" or "Vendors" means the successful bidder(s).

III. GENERAL REQUIREMENTS

- 1. Mandatory Eligible Item Requirements: Eligible Items must meet or exceed the mandatory requirements listed below.
 - a. Eligible Items must be identified in the Catalogue.

LABSUP13

- b. Eligible Items must be new and unused.
- c. Eligible Items must not expire for at least 180 days after receipt by the Agency. The manufacturer's expiration date must be included on or with each Eligible Item shipped. Failure to include the manufacturer's expiration date or providing Eligible Items that expire in less than 180 days of Agency's receipt will result in return of those items in accordance with the return provisions in this Contract.

IV. CONTRACT AWARD, PERCENTAGE DISCOUNT, CATALOGUE

- Contract Award: The Contract is intended to provide Agencies with a
 Discounted Price on all Eligible Items. The Contract shall be awarded to the
 Vendor that meets the RFQ specifications and provides the lowest Total Bid Cost
 for the Eligible Items listed on the Pricing Pages. Notwithstanding the foregoing,
 the Purchasing Division reserves the right to award this Contract to multiple
 Vendors if it deems such action necessary.
- 2. Discount Percentage: Vendor shall quote a Discount Percentage for each category of Eligible Items. Each category may have a different Discount Percentage. The Discount Percentage for a given category will reduce the Catalogue Price for every Eligible Item in that category. The resulting Discounted Price shall be the price Agencies pay for purchases of that Eligible Item under this Contract. Percentage discounts under "Miscellaneous Discounts" shall apply to all products not included in another product category. Nine (9) categories listed on the pricing pages must be utilized. Vendor has the option of adding additional categories but the product categories must be included with the Vendor's bid.

Vendor shall not incorporate Discount Percentages into its Catalogue unless the Vendor clearly shows the Catalogue Price and then separately lists the applicable Discount Percentage and the Discounted Price for each Eligible Item.

- 3. Pricing Pages: Vendors are strongly encouraged to complete the Pricing Pages electronically in Microsoft Excel. Doing so will reduce the number of calculations required and the possibility for calculation errors as explained below.
 - a. Information Requested. Vendor should complete the Pricing Pages by filling in any blank spaces with the information requested. The information requested on the Pricing Pages for each frequently purchased Eligible Item includes Catalogue Prices, Catalogue Package Quantity, Unit Prices, Discount

LABSUP13

Percentages, Discounted Unit Prices, Units, and item total costs. The Vendor should also include the Total Bid Cost, Discount Percentages for all Eligible Item product categories (including a miscellaneous category), and Contract Coordinator contact information. Vendor should complete all columns as failure to complete the Pricing Pages in their entirety may result in Vendor's bid being disqualified.

Vendor must apply the appropriate Discount Percentage for each frequently purchased Eligible Item listed on the Pricing Pages in arriving at the Discounted Unit Price for that item. For example, If Item A falls into the personal care products category then the Discount Percentage for the personal care products category must be used to calculate the Discounted Unit Price for Item A on the Pricing Pages.

- b. Pricing Page Calculations. The Pricing Pages require Vendor to insert its Catalogue Price, Catalogue Package Quantity, and Discount Percentage for each Eligible Item listed thereon. That information, along with information that is already included on the Pricing Pages will be used to calculate the Unit Price, Discounted Unit Price, item total cost, and Total Bid Cost. If Vendor completes the Pricing Pages electronically using the Microsoft Excel version from the Purchasing Division, these calculations will be automatically completed.
 - Unit Price Calculation The Unit Price is calculated by dividing the Catalogue Price by the Catalogue Package Quantity.

Example: \$10 per box divided by 10 masks per box equals a Unit Price of \$1.

ii. Discounted Unit Price - The Discounted Unit Price is calculated by applying the appropriate Discount Percentage to the Unit Price

Example: \$1 Unit Price reduced by a 10% Discount Percentage equals a \$0.90 Discounted Unit Price.

iii. Item Total Cost - The item total cost is calculated by multiplying the estimated unit quantity by the Discounted Unit Price.

Example: An estimated unit quantity of 10,000 masks multiplied by a Discounted Unit Price of \$0.90 equals a \$9,000 item total cost for that item.

LABSUP13

iv. Total Bid Cost – The Total Bid Cost is calculated by adding the item total cost for every item listed on the Pricing Pages.

Example: Item total costs of \$9,000 and \$1,000 would equal a Total Bid Cost of \$10,000 (assuming that the Pricing Pages contained only two items).

- c. Estimated Quantities Only. The Pricing Pages contain a list of frequently purchased items and estimated unit quantity that will be purchased. The estimated unit quantity for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.
- d. Correction of Errors. Notwithstanding anything contained herein, the Purchasing Division may correct errors on the Pricing Pages. Vendor is strongly encouraged to electronically enter the information into the Pricing Pages to prevent errors in the evaluation.
- e. Electronic Version. The Pricing Pages were created as a Microsoft Excel document and Vendor can request an electronic copy for bid purposes by sending an email request to the following address: tara.l.lyle@wv.gov.

The Purchasing Division's electronic version of the Pricing Pages contains the formulas for calculating the Unit Price, Discounted Unit Price, item total cost, and Total Bid Cost. Those items will be automatically populated by the Microsoft Excel program when Vendor inserts its Catalogue Price, Catalogue Package Quantity, and Discount Percentage. Utilizing the electronic version of the Pricing Pages and inserting the values using Microsoft Excel will greatly reduce the number of calculations that Vendor will have to make and the possibilities for error. The Purchasing Division reserves the right to take Vendor's Pricing Pages and insert the appropriate numbers into the Microsoft Excel spreadsheet if Vendor chooses to complete the Pricing Pages in any other way.

4. Catalogue:

a. Submission. Vendor must submit two dated copies of its Catalogue for evaluation purposes prior to award of this Contract. Vendor shall also mail the Catalogue free of charge to any Agency desiring to use this Contract. Copies of the Catalogue may be requested in an electronic format and should

REQUEST FOR QUOTATION

Laboratory Supplies - Specifications

LABSUP13

be provided in that format if possible. Vendor's Catalogue will be used by Agencies to order Eligible Items under this Contract.

Vendor should identify all Eligible Items listed on the Pricing Pages by circling or highlighting those items in its Catalogue and earmarking or tabbing the pages for those items, to assist in the evaluation and verification of the bids and pricing. If any discrepancies exist between the Pricing Pages and the actual price listed in the Catalogue, the actual price shown in the Catalogue shall prevail and the Pricing Pages may be corrected by the buyer for evaluation purposes.

b. Catalogue Modification. The Purchasing Division may permit Vendor to update its Catalogue at each renewal date. Determination of whether or not to allow a Catalogue update is at the sole discretion of the Purchasing Division. Any request by Vendor to update its Catalogue must include a detailed listing of the following: (1) any Eligible Items being removed, discounted prices for those items, Agencies quantity usage of those items, and total spent by Agencies on those items; (2) any Eligible Items being added to the Catalogue and the discounted price of those items; (3) all changes in the discounted price to Eligible Items, estimated usage relating to items that have changed in price, and the total impact of the price change on the State; and (4) justification for updating its Catalogue. The Purchasing Division may waive the detailed listing requirement if it finds that doing so is in the best interest of the State. Unless an updated catalogue is approved, the Eligible Items available under this Contract and prices for those items shall remain unchanged during the term of this Contract.

In the event that multiple Vendors are awarded a contract under the RFQ, Vendors shall not be permitted to include in its updated Catalogue items being sold by a Vendor that is lower in ordering priority without the consent of that lower priority Vendor.

LABSUP13

V. ORDERING AND PAYMENT

- 1. Ordering: Vendor shall accept orders by regular mail, facsimile, e-mail, or any other written forms of communication. Vendor may, but is not required to, accept on-line orders through a secure internet ordering portal/website. If Vendor has the ability to accept on-line orders, it should include in its response a brief description of how attachment 1 Agencies may utilize the on-line ordering system and describe the process for setting up for such ordering for State agencies. Any on-line ordering system must have the capability to restrict prices and available items to conform to the Catalogue originally submitted with this RFQ. Vendor shall ensure that its on-line ordering system is properly secured prior to processing Agency orders on-line.
- Invoicing and Payment: Vendor shall indicate the discount received on each invoice submitted for payment. Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia. Methods of acceptable payment must include the West Virginia Purchasing Card. Payment in advance is not permitted under this Contract.

VI. DELIVERY AND RETURN

- 1. Delivery Time: Vendor shall deliver standard orders within five (5) working days after orders are received. Vendor shall deliver emergency orders within one (1) working day after orders are received. Vendor shall ship all orders in accordance with the above schedule and shall not hold orders until a minimum delivery quantity is met. All deliveries must be made during normal working hours for the delivery locations. All shipments of products requiring a material safety data sheet (MSDS) shall include a MSDS with the product.
- 2. Late Delivery: The Agency placing the order under this Contract must be notified in writing if orders will be delayed for any reason. Any delay in delivery that could cause harm to an Agency will be grounds for:

LABSUP13

- (a) cancellation of the delayed order, and
- (b) obtaining the items ordered from a third party.

Any Agency seeking to obtain items from a third party under this provision must first obtain approval of the Purchasing Division.

3. Delivery Payment/Risk of Loss: Standard order delivery shall be F.O.B. destination to the Agency's location. The minimum order for prepaid shipping to one, in-state destination shall be \$200.00. Vendor shall include the cost of standard order delivery charges in its bid pricing/discount for all orders of \$200.00 or greater and shall not charge the Agency separately for such delivery. For all orders of less than \$200.00, or emergency orders for which the Agency has requested expedited delivery, Vendor may charge the Agency at cost for delivery provided that Vendor includes the delivery expense as a separate line item on the invoice with the original freight bill attached. Vendor shall maintain the risk of loss for orders under \$200.00 and emergency orders.

Agencies may make purchases that fall under the \$200.00 limit at a local source under authority delegated from the Purchasing Division without violating the terms of this Contract, provided that such purchases do not exceed Purchasing Division spending and bidding limits.

- 4. Quality Assurance: Upon request, Vendor shall provide the State with test data, certifications, or samples of any Eligible Item. Vendor is responsible for all costs associated with submitting these items. Vendor shall ensure that any request under this provision is fulfilled within five (5) days unless the State agrees otherwise in writing.
- 5. Return of Unacceptable Items: Eligible Items that Agency deems unacceptable shall be returned to Vendor at Vendor's expense and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable, or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.
- Return Duc to Agency Error: Items ordered in error by the Agency will be returned for credit within 30 days of receipt, F.O.B. Vendor's location. Vendor shall not charge a

LABSUP13

restocking fee if returned products are in a resalable condition. Items shall be deemed to be in a resalable condition if they are unused and in the original packaging. Any restocking fee for items not in a resalable condition shall be the lower of the Vendor's customary restocking fee or 5% of the total invoiced value of the returned items.

VII. MISCELLANIOUS

- No Substitutions: Vendor shall supply only Eligible Items contained in its Catalogue submitted in response to the RFQ or an updated Catalogue approved by the Purchasing Division as described above. Vendor shall not supply substitute items.
- Vendor Supply: Vendor must carry sufficient inventory of the Eligible Items being
 offered to fulfill its obligations under this Contract. By signing its bid, Vendor certifies
 that it can supply the Eligible Items contained in its bid response.
- 3. Reports: Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agencies (including political subdivisions) which have used this Contract. The report should include items purchased, quantities of items purchased, and the total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of this Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract. The report is to be sent electronically to: tara.l.lyle@wv.gov.
- 4. Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should identify the contract manager in the space provided on the Pricing Pages.
- 5. Mandatory Requirements: The terms "must," "will," "shall," "minimum," "maximum," or "is/are required" identify a mandatory contract requirement. Decisions regarding compliance with any mandatory requirements shall be at the sole discretion of the Purchasing Division. Failure on the part of the Vendor to meet any of the mandatory specifications shall result in disqualification of the bid.
- 6. Waiver: The failure of either party to insist upon a strict performance of any of the terms or provision of this Contract, or to exercise any option, right, or remedy herein

LABSUP13

contained, shall not be construed as a waiver or a relinquishment for the future of such term, provision, option, right, or remedy, but the same shall continue in remain in full force and effect. Any waiver must be expressly stated in writing and signed by the waiving party.

- 7. References to Price Changes: Any reference in Vendors documents submitted in response to the RFQ to prices being subject to change is null and void. Price changes may only be made with approval of the Purchasing Division as outlined herein.
- 8. Pricing Pages: If you do have enough space on the pricing pages, please attach another sheet stating the product description, manufacturer, manufacturer number or size. Please note: the cost you intend to bid on the specification or alternate must be provided on the pricing sheet.
- 9. Alternates or Equal Items: If an alternate or equal item is provided instead of the brand name, the alternate or equal must meet or exceed the specifications for the brand name item.

CERTIFICATION AND SIGNATURE PAGE

By signing below, I certify that I have reviewed this Solicitation in its entirety; understand the requirements, terms and conditions, and other information contained herein; that I am submitting this bid or proposal for review and consideration; that I am authorized by the bidder to execute this bid or any documents related thereto on bidder's behalf; that I am authorized to bind the bidder in a contractual relationship; and that to the best of my knowledge, the bidder has properly registered with any State agency that may require registration.

VWR International	L, LLC.
(Company)	MMOL
(Authorized Signature)	
Lewis McMillan/D	ir- Quotes&Contracts Admin
(Representative Name,	Title)
800-932-5000	484-881-6575
(Phone Number)	(Fax Number)
2/8/2013	
(Date)	

DEO H.	TADRIDI 2	
KI O NO.	LABSUP13	

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and; (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has enfered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Dobt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Rolated party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (W. Va. Code §61-5-3) that nolther vendor nor any related party own a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

1.

State of West Virginia

0000 30

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

1. 	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or,
-	Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this cortification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or.
	Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5. 	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States anned forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bld is submitted; or,
G. ——	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked; Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodilies or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
	Application is made for preference as a non-resident small, women- and minority-owned business, in accordance with West Virginia Code §5A-3-59 and West Virginia Code of State Rules. Bidder has been or expects to be approved prior to contract award by the Purchasing Division as a certified small, women- and minority-owned business.
against s	nderstands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the nents for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency sted from any unpaid balance on the contract or purchase order.
he requi	dission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and be the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid and business taxes, provided that such information does not contain the amounts of taxes paid nor any other information by the Tax Commissioner to be confidential.
ma acc	enalty of law for false swearing (Wost Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true urate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate sturing the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
	Signod;
Date:	Title:

10	C006T94	JT9002-3	150.95	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=JT9002-3
1	COOONEA	BDH3393-2	30.72	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=BDH3393-2
_	C000N64	MK325614	31.28	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=MK325605
	C030R32 1232A71	EMD-10274.000		EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=EMD-10274.0004
1	4120G23	BDH5052-500M		EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=BDH5052-500ML
_	C121A05	90000-976	90.12	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=90000-976
	4120G62	BDH5050-4L	143.11	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=BDH5048-4L
8	4120G70	BDH5074-4L	65.45	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=BDH5076-4L https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC1955-16
_	C180N07	RC1955-16	47.84	EA		https://us.vwr.com/store/catalog/product.jsp:catalog htmbcr=Re1999 10
	C184E68	EM-CX1054-1	203.06	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-CX1054-1
	C000P59	100512-006	55.71	EA	500gm	https://us.vwr.com/store/catalog/product.jsp?catalog_number=97061-022
	0609P15	EM-EX0280-1	311.02	EA PK	PK/5	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-EX0280-1 https://us.vwr.com/store/catalog/product.jsp?catalog_number=34107-413
	4153W50	34107-413	93.82		CS/4	https://us.vwr.com/store/catalog/product.jsp?catalog_number=95042-908
14	C001K36	95042-908	46.3	CS	C5/4	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90000-126
	0190C20	90000-126	65.37	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=90000-708
	C376G23	90000-708	53.80	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=48218-500
17	6705C27	48218-500	67.69	EA		incups.//us.vwi.com/storo/cores_gr
18	C036Q81	EM-AX1440-6	161.06	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-AX1440-6
19	C001P37	101226-668	16	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=101226-668
20	C468S48	JT2444-1	123.38	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=BDH0244-500G https://us.vwr.com/store/catalog/product.jsp?catalog_number=BJ230-1L
21	C000N05	BJ230-1L	69.98	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=JT9830-3
22	C490D66	JT9830-3	136.22	EA		nttps://us.vwr.com/store/catalog/product.jsp.cotalog/names-
23	C490B20	EM-MX0485-5	301.41	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=BDH1135-204L https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC504016
-	3241N68	RC504016	21.02	EA		https://us.vwr.com/store/catalog/product.jsp:catalog htmber=ress=sus
	0146N36	101203-006	35.02	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=101203-006
	C001Z78	IB74050	27.32	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=IB74050
100	C001278	BJ242-1L	176.94	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=BJ242-1L
500000	C337C68	97055-158	75.64	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=97055-158

	3001B09	100371-020	79.55	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=100371-020
-	3001803 3003L61	45001-044	128.00	PK PK/6	https://us.vwr.com/store/catalog/product.jsp?catalog number=45001-044
_	C001R64	RC1501-1	133.49	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC1501-1
		RC1551-1	134.19	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC1551-1
32 (C001R71	KC1551-1	134.13		
	000 41420	JT3246-1	106.53	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=BDH0268-500G
33 (C624W38	J13240-1	100.55		
	0500043	EM-PX1378-1	88.56	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-PX1378-1
34 (C609Q42	EIVI-PX1376-1	88.50		
	0540040	ENA DV1 40E 1	51.58	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM1.04936.0500
	0612B10	EM-PX1405-1 MK670404	178.66	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=MK670404
-	C604G60	RC72911	120.53	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC72911
_	C001C81	RC72911	120.53	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC72911
38	C716F54	KC/2911	120.55		
		EM-SX0320-5	129.92	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-SX0320-1
39	0610M30	EIVI-5X0320-3	125.52		
	0.54.01.00	EM-SX0355-1	61.73	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-SX0355-20
1000	0610L99	MK752704	67.10	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=MK752704
41	C709K05	WIK/32/04	07.10		
	0740150	EM-SX0420-5	76.97	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-SX0420-5
- 10	C710L58		165.00	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=PI28312
43	C714F02	PI28312	103.00		
	0745150	EM-SX0590-7	185.83	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-SX0590-7
	C715N58		26.8	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=97064-476
45	C715Q16	97064-476	20.0	LA	
	0544040	EM-SX0761-1	20.87	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-SX0761-5
	0611P49	JT3375-1	59.26	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=J13375-1
	C724B56	MK810004	53.57	EA	https://us.ywr.com/store/catalog/product.jsp?catalog_number=MK810004
	C998X07	RC8111-16	73.48	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC8111-16
- 100	C742D20	RC82001	50.83	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=RC82001
50	C748W07	NC02001	30.03		
	0746050	EM-SX1244-6	45.16	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-SX1247-1
51	C746D50	EIVI-3X1244-0	45.10	- C.	
22		ENA CV1244 7	180.39	EA	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM-SX1244-7
	C000A75	EM-SX1244-7	105.95	EA	https://us.ywr.com/store/catalog/product.jsp?catalog_number=J19831-3
_	C864T84	JT9831-3	135.52	EA	https://us.ywr.com/store/catalog/product.jsp?catalog_number=34111-705
111177	4210F40	34111-705	132.48	EA	https://us.vwr.com/store/catalog/product.jsp?catalog number=JTX171-7
55	C833U40	JTX171-7	132.40		
		4	1	1 1	https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM1.05287.050

57	C010Q77	90000-772	157.11	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=90000-772
\rightarrow	C383W70	90004-058	191.27	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=90004-058
-	C383R20	90000-392	72.27	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=90000-392
	0195A43	90001-280	25.17	PK	PK/10	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89032-280
	0343X85	90004-004	116.02	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=90004-004
-	C377E40	90008-898	49.24	PK	PK/4	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90008-898
-	0190E79		89.66	PK	PK/10	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90002-326
		EM1.05285.0500		EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM1.05285.0500
	C804M25	_	68.73	CS	CS/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90001-282
	1231L45	90001-282		EA	C3/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90001-642
66	C858A01	90001-642	99.35	EA		
67	C863T05	EM1.01406.050	83.09	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=EM1.01406.0500
68	2903H07	89136-482	87.91	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=89136-482
69	1729B40	16115-034	221.52	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=16115-034
70	1764J40	70000-008	92.67	CS	CS/24	https://us.vwr.com/store/catalog/product.jsp?catalog_number=70000-008
18.00	1758G49	16344-508	53.29	CS	CS/4	https://us.vwr.com/store/catalog/product.jsp?catalog_number=16344-508
	1717N03	47750-624	25.66	PK	PK/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=47750-624
_	1717V08	16128-954	51.54	PK	PK/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=16128-954
_	1720R18	16120-962	112.43	PK	PK/6	https://us.vwr.com/store/catalog/product.jsp?catalog_number=16120-962
	7755R36	17553-654	1450.66	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=17553-654
_	1701F65	16155-929	149.91	CS	CS/48	https://us.vwr.com/store/catalog/product.jsp?catalog_number=16155-929
	1753F80	89170-798	196.97	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=89170-798
	5663F41	89001-518	167.57	CS	CS/1	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89001-518
9.000	4429G20 ·	27682-025	25.32	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=27682-025
	1709A73	IR249-0250	33.97	cs	CS/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=IR249-0250
			44.22	DV	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=HP5183-2076
	2714S07	HP5183-2076	44.22	PK EA	F K/ 100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=3479-000
_	2 3545G10	34795-000	137.14	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=89176-304
83	3 1251E12	89176-304	12.81	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=89176-304
	1251H08	89176-304	12.81	10000000	DK /100	https://us.vwr.com/store/catalog/product.jsp?catalog number=11215-246
_	4 1304F50	11215-246	27.91	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=11216-515
_	5 1303N28	11216-515	368.24	PK	pk/250	https://us.vwr.com/store/catalog/product.jsp?catalog_number=14220-702
86	6 1228X76	14220-702	14.33	EA	DV /500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=47744-646
1 77	7 8495V17	47744-646	126.42	PK	PK/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21020-684
88	8 2594G50	21020-684	110.09	CS	CS/125	https://us.vwr.com/store/catalog/product.jsp?catalog number=21008-929
8	9 2610L45	21008-929	246.65	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog number=21008-940
9	0 2610L52	21008-940	323.87	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog number=21910-118
9	1 2904A20	21910-118	156.41	EA		nttps://us.vwr.com/store/catalog/product/pproduct/

92	2715H32	HPG1099-80053	343.74	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=HPG1099-80053
	2848Y40	NOBID	5 1517 1			NO BID
	2702A41	66030-996	150.58	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=66030-996
0.77	1223K14	20170-303	106.12	PK	PK/1000	https://us.vwr.com/store/catalog/product.jsp?catalog_number=20170-303
_	9853Q02	66175-105	81.34	CS	CS/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=66175-705
	3239M50	23226-625	28.20	EA	00/100	https://us.vwr.com/store/catalog/product.jsp?catalog number=23226-625
*57,776	3239M55	23226-647	33.76	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=23226-647
	2714M52	HP-5181-1270	117.30	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=HP-5181-1270
	3274F26	23420-118	138.66	PK	PK/500	https://us.vwr.com/store/catalog/product.jsp?catalog number=23420-118
	3320C62	89038-042	87.49	PK	PK/6	https://us.vwr.com/store/catalog/product.jsp?catalog number=89038-042
		25373-100	166.62	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog number=25373-100
Minn	3488N25	60819-331	393.08	CS	CS/1000	https://us.vwr.com/store/catalog/product.jsp?catalog number=60819-331
F3000 5005	9217G15 9219K13	60819-331	165.80	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=60819-728
/		21909-813	46.11	EA	03/300	https://us.vwr.com/store/catalog/product.jsp?catalog number=21909-813
	2903J48	33502-142	115.99	CS	CS/125	https://us.vwr.com/store/catalog/product.jsp?catalog_number=33502-142
	9215F90	97027-742	496.36	EA	C3/123	https://us.vwr.com/store/catalog/product.jsp?catalog_number=97027-742
	8244V60		238.40	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=41447-004
	6625B47	41447-004	213.19	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=14002-782
	4136L96	14002-770	37.33	CS	CS/1	https://us.vwr.com/store/catalog/product.jsp?catalog_number=26316-408
A Contract	3752L20	26316-408	262.85	EA	C3/1	https://us.vwr.com/store/catalog/product.jsp?catalog_number=14002-782
1900/04/2003	1235B65	14002-782	54.57	CS	CS/1000	https://us.vwr.com/store/catalog/product.jsp?catalog_number=47745-172
	7732C67	47745-172	64.55	CS	CS/960	https://us.vwr.com/store/catalog/product.jsp?catalog_number=47745-138
	7732C53	47745-138	-	CS	CS/480	https://us.vwr.com/store/catalog/product.jsp?catalog_number=47745-122
1000000	7732C51	47745-122	54.57	CS	CS/480	https://us.vwr.com/store/catalog/product.jsp?catalog_number=47745-126
	7732C87	47745-126	57.62	_	CS/960	https://us.vwr.com/store/catalog/product.jsp?catalog_number=47751-657
	1234K85	47751-657	120.30	CS PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog number=28456-043
-	4704N10	28456-043	15.54		PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=28450-106
	3 4712B30	28450-106	14.32	PK		https://us.vwr.com/store/catalog/product.jsp?catalog_number=28450-106
	4716Q25	28480-106	46.75	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=28319-275
	0898U47	28319-275	9.63	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=28199-098
	1 4619B71	28199-098	102.41	CS	CS/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89000-412
_	4997K70	89000-412	72.74	PK	PK/1	https://us.vwr.com/store/catalog/product.jsp?catalog number=89041-924
	3 5003B18	89041-924	284.69	CS	CS/12	https://us.vwr.com/store/catalog/product.jsp:catalog number=89001-926
124	4 4997K76	89001-926	122.12	PK	PK/1	https://us.vwr.com/store/catalog/product.jsp?catalog number=89041-936
	5 5003B51	89041-936	358.95	PK	PK/6	https://us.vwr.com/store/catalog/product.jsp:catalog number=89125-942
110000000	6 1086F40	89125-942	237.03	CS	CS/1	https://us.vwr.com/store/catalog/product.jsp?catalog htmber=89129-942
12	7 1094M31	90003-652	92.56	PK	PK/20	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90003-644
128	8 1094M19	90003-644	74.39	PK	PK/20	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90003-644
129	9 1094L55	90003-866	104.36	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90003-866

130 2591L04	21150-486	35.42	PK	PK/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21150-486
131 7010F80	100498-108	76.88	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=100498-108
132 6277K68	NOBID	7 0.00			NO BID
133 1225Z00	21903-005	236.50	CS	CS/15	https://us.vwr.com/store/catalog/product.jsp?catalog number=21903-005
134 2904D11	37002-022	22.35	PK	PK/1	https://us.vwr.com/store/catalog/product.jsp?catalog_number=37002-022
135 2904F24	21905-026	7.85	PK	PK/280	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21905-026
136 2904F39	21905-011	16.29	PK	PK/196	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21905-011
137 1234Z62	21905-049	24.11	PK	PK/140	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21905-049
	89097-916	37.29	PK	PK/6	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89097-916
138 6258H12 139 7310W22	54110-300	62.67	EA	1.,,0	https://us.vwr.com/store/catalog/product.jsp?catalog_number=54110-300
	89106-770	191.86	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89106-770
140 9885D43	30002-148	47.70	EA	00/300	https://us.vwr.com/store/catalog/product.jsp?catalog_number=30002-148
141 7011D73	30002-148	47.70	-		
140 7011070	100498-116	25.63	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=100498-116
142 7011D70	21909-574	13.60	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=21909-574
143 3867W60	89106-766	108.42	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89106-766
144 9885D40	14673-010	126.46	CS	CS/1000	https://us.vwr.com/store/catalog/product.jsp?catalog_number=14673-010
145 7760B50	10011-830	90.39	PK	PK/1000	https://us.vwr.com/store/catalog/product.jsp?catalog_number=10011-830
146 1230Z96	25388-640	48.57	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=25388-640
147 3489B66	89130-888	106.02	CS	CS/200	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89130-888
148 1220Z81	89130-900	221.11	CS	CS/200	https://us.vwr.com/store/catalog/product.jsp?catalog number=89130-900
149 1220Z80	89130-900	275.88	CS	CS/1000	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89130-892
150 1222B00	89174-530	94.86	PK	PK/576	https://us.vwr.com/store/catalog/product.jsp?catalog number=89174-520
151 1220Z84		239.10	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89130-910
152 1220Z87	89130-910 89130-912	221.29	CS	CS/200	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89130-912
153 1220Z88	89130-912	221.25	- 00	00/200	
4544220057	EMD-5789-2	104.64	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=EMD-5789-2
154 1229X57	89071-784	118.78	CS	CS/1000	https://us.vwr.com/store/catalog/product.jsp?catalog number=89071-784
155 1304L24		132.62	CS	CS/60	https://us.vwr.com/store/catalog/product.jsp?catalog number=62409-068
156 6960A07	62409-068	195.66	CS	CS/2	https://us.vwr.com/store/catalog/product.jsp?catalog_number=16000-204
157 7310W30	16200-204	59.69	CS	CS/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89009-658
158 1230Y22	89009-658 62996-622	150.29	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=62996-622
159 9521W20		100.76	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=56766-107
160 1251T76	56766-107 21909-610	68.12	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog number=21909-610
161 3883855	21909-810	68.12	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21909-380
162 3883B59	29442-474	178.31	CS	CS/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=29442-474
163 7684D02	11213-800	691.59	CS	CS/1	https://us.vwr.com/store/catalog/product.jsp?catalog_number=11213-800
164 1312A29 165 9885E07	100488-956	40.54	PK	PK/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=100488-956

66 98	885D55	89106-750	68.45	PK	PK/500	https://us.vwr.com/store/catalog/product.jsp?catalog_number=89106-750
	08Q65	70690-156	97.40	PK	pk/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=70690-156
	233M32	58540-047	37.39	PK	PK/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=58540-047
	233M34	58540-069	30.31	PK	PK/6	https://us.vwr.com/store/catalog/product.jsp?catalog_number=58540-069
	758G43	23609-182	22.65	PK	PK/3	https://us.vwr.com/store/catalog/product.jsp?catalog_number=23609-182
	377E40	90008-898	49.24	PK	PK/4	https://us.vwr.com/store/catalog/product.jsp?catalog_number=90008-898
100	436B40	58976-945	225.63	PK	PK/250	https://us.vwr.com/store/catalog/product.jsp?catalog_number=58976-945
	741G26	59581-505	67.87	PK	PK/1LB	https://us.vwr.com/store/catalog/product.jsp?catalog_number=59581-505
	741020 745H20	59580-422	53.20	PK	PK/1LB	https://us.vwr.com/store/catalog/product.jsp?catalog_number=59580-422
170 A 100 B 100 B	741G32	59581-527	70.16	PK	PK/1LB	https://us.vwr.com/store/catalog/product.jsp?catalog_number=59581-527
	000B38	60818-270	108.47	CS	CS/1000	https://us.vwr.com/store/catalog/product.jsp?catalog_number=60818-270
		72310-400	78.17	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=72310-400
	929E01	25229-222	98.48	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=25229-222
	929E09	BD309578	23.90	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=BD309578
	936H60	28143-946	190.62	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=28143-946
	229P20	28200-046	149.06	cs	CS/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=28200-046
	600B27	60827-453	373.63	PK	PK/144	https://us.vwr.com/store/catalog/product.jsp?catalog_number=60827-453
	212K21	13701-004	35.34	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=13701-004
	903J32	18900-126	336.74	EA	11,000	https://us.vwr.com/store/catalog/product.jsp?catalog_number=18900-126
	728R27		221.22	PK	PK/10FT	https://us.vwr.com/store/catalog/product.jsp?catalog_number=62995-368
W 22 20 C	544T745	62995-368	87.84	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=62995-630
A-1-1-1	519567	62995-630	35.13	PK	PK/100	https://us.ywr.com/store/catalog/product.jsp?catalog_number=BD367815
	668B32	BD367815	68.23	PK	PK/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=70690-082
	.227W35	70690-082	540.89	EA	TRYIL	https://us.vwr.com/store/catalog/product.jsp?catalog_number=23198-013
	.235C70	23198-013	38.14	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=62344-922
100000000000000000000000000000000000000	338E70	62344-922		EA	-	https://us.vwr.com/store/catalog/product.jsp?catalog_number=66121-980
	7230R76	66121-980	668.20	PK	PK/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=56310-002
-	L951F15	56310-002	9.38	PK	PK/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=56310-240
	L951F25	56310-240	8.48	EA	PN/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21512-062
	2713Q89	21512-062	521.04	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=21512-142
	2713S27	21512-143	526.88			https://us.vwr.com/store/catalog/product.jsp?catalog_number=10010-734
196	4153N60	10010-734	356.72	EA		
		52572272	005.00	F 4		https://us.vwr.com/store/catalog/product.jsp?catalog_number=101100-042
	3409Y30	101100-042	895.00	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=98000-282
	9329G35	98000-282	11.20	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=80090-604
199	1233L62	80090-604	353.07	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=41446-970
200	6625B38	41446-970	358.61	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=80076-544
201	2715N69	80076-544	14.65	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=36934-180
202	1235C95	36934-180	230.16	EA		TITLES.// us.vwi.com/ssc.s/
203	2715H27	HPG1099-201	133 101.74	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=HPG1099-20133

204	5152M18	24270-226	120.32	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=24270-226
205	6625B53	41446-060	34.35	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=41446-060
206	2715H33	HPG1103-60001	162.54	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=HPG1103-60001
207	2714T27	HP5183-4694	656.53	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=HP5183-4694
208	1235D23	15551-004	27.35	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=15551-004
209	8294D17	58816-121	404.29	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=58816-121
210	4260E80	11376-298	94.50	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=11376-298
211	7735E10	53514-148	255.37	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=53514-148
212	9329C33	61161-368	34.05	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=61161-368
213	8320140	47730-212	190.88	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=47730-212
	8320144	47730-220	253.85	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=47730-220
_	8319Y13	57334-254	85.20	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=57334-254
	8319Y16	57334-256	85.20	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=57334-256
10110920777	8319Y61	57334-286	86.55	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=57334-286
_	8319Y73	57334-294	117.43	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=57334-294
	8945C04	11215-847	23.50	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=11215-847
	2714T63	HP5183-4757	84.54	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=HP5183-4757 https://us.vwr.com/store/catalog/product.jsp?catalog_number=25408-090
	1228A15	25408-090	127.73	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=89131-968
1175-100	1224V51	89131-968	910.42	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=56614-420
	2903L05	56614-420	41.74	EA	00/100	https://us.vwr.com/store/catalog/product.jsp?catalog number=38888-618
	8339Q46	38888-618	240.69	CS	CS/100	https://us.vwr.com/store/catalog/product.jsp?catalog number=53515-940
225	7683X50	53515-940	121.88	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog number=53515-926
77.00	7683X74	53515-926	82.13	PK	PK/50	https://us.vwr.com/store/catalog/product.jsp?catalog_number=58940-035
	8614R09	58940-035	461.30	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=61161-336
	9327L12	61161-336	63.31	EA		https://us.vwr.com/store/catalog/product.jsp?catalog number=53516-178
229	7733T99	53516-178	25.60	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog humber=55516-176
	1220R19	82050-276	243.89	CS	CS/500	https://us.vwr.com/store/catalog/product.jsp?catalog number=33995-534
Transfer of Contral	2890B17	33995-534	546.43	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=13491-020
	9826M01	13491-020	868.73	EA		https://us.vwr.com/store/catalog/product.jsp:catalog number=21835-032
	2902G05	21835-032	56.29	EA		
234	2902L10	21834-109	38.91	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=21834-109
235	1230Y87	14230-910	149.34	CS	CS/400	https://us.vwr.com/store/catalog/product.jsp?catalog_number=14230-910 https://us.vwr.com/store/catalog/product.jsp?catalog_number=55533-018
236	1216Z69	55533-018	68.67	PK	PK/100	nttps://us.vwr.com/store/catalog/product.jspreatalog flumber=55555-018
237	5762G52	100231-389	148.00	CS	CS/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=100231-389
238	8945G65	BD305489	104.42	CS	CS/12	https://us.vwr.com/store/catalog/product.jsp?catalog_number=BD305489
239	1135C28	CV5852	107.98	CS	CS/400	https://us.vwr.com/store/catalog/product.jsp?catalog_number=CV5852

	CVE00	149.30	PK	PK/30	https://us.vwr.com/store/catalog/product.jsp?catalog_number=CV599
240 1135C55	CV599	143.30	_	1.1455	https://us.vwr.com/store/catalog/product.jsp?catalog_number=80086-976
241 1232W53	80086-976	261.78	EA		https://us.vwr.com/store/catalog/product.jsp?catalog_number=97064-486
242 0563X69	97064-486	43.66	EA		https://us.vwr.com/store/catalog/product.jsp:catalog_number=21007-970
243 7684D05	21007-970	74.92	PK	PK/100	https://us.vwr.com/store/catalog/product.jsp?catalog_number=21007-970

*

.

If Vendor has the ability to accept on-line orders, it should include in its response a brief description of how Agencies may utilize the on-line ordering system and describe the process for setting up such ordering for State agencies.

VWR.com

e-Business at VWR has a long-standing history, the roots of which began in the early 80's with electronic data interchange (EDI) transactions. As the internet emerged as a viable commerce vehicle for business, VWR established multiple e-commerce web sites, including VWR.com beginning in 1996. Today, VWR.com is used by thousands of customers throughout the world to browse our extensive on-line product catalog, check account activity (such as the status of orders) and to place orders. The site supports local languages, currencies, taxes, etc. not only in the US and Canada, but for countries throughout Eastern & Western Europe, as well as several Asian countries.

In order to provide the best web site experience and to support the various procurement needs of our customers, VWR has invested heavily over the years in technology, tools and enhancements to improve the site's robust feature set. Best of all, VWR.com can be utilized as a stand-alone purchasing site or as part of a fully-integrated extension of a customer's e-procurement application, e-marketplace or ERP system.

Rich Feature Set

In addition to access to thousands of products in our on-line catalog, VWR.com also offers a variety of features to help customers find and order products, store preferences and access helpful on-line information such as packing slips, invoices and status of orders. Features include:

- Contract Pricing Customers have access to their agreed-upon contract pricing for products, calculated automatically.
- Product Inventory Availability Whether the product is shipping from a VWR warehouse or from one of our supplier partners, we'll let you know and provide an estimated shipping date.
- Customized Product Catalogs Can be used to feature best-buy, stockroom products to steer cost savings and value across a company user community.
- Personal Shopping Lists Each VWR.com user can create an unlimited number of personal "hot" lists or order templates for frequently purchased products. If enabled, VWR.com can also track your frequent purchases in a handy re-order form.
- Flexible & Accurate Searching No matter how you search for information or products, the VWR.com search engine is there to support you with matching search results. Enter product descriptions, part numbers, CAS numbers, etc. and let VWR.com do the work!
 - Molecular Search Engine Use our handy search tool to draw and search by chemical structure/substructure.
 - Comparison Searching Compare up to 4 products at once, side-by-side to make educated purchasing decisions.
- Integrated Product Cross-Referencing VWR.com allows you to browse or shop for products using any manufacturer or supplier part number. Simply enter the part number in the Search box or in Order Entry and the web site will automatically cross-reference the part number to a matching VWR part number (if
- Quotes Processing Retrieve and process quotes on-line and process them as web orders.
- Antibody Configurator Find the antibodies you need quickly with our handy configurator tool.
- Click-to-Chat Support Get on-line access to a customer service representative, product support specialist or web support technician for instant answers to questions—directly on the page you are viewing.
- Customized Welcome Pages Tailor VWR.com for your user community by creating a welcome "splash" page containing order reminders, contact info and links to documents or site features. For extra customization, add your company logo to the top of all web pages!
- Purchase Order Acknowledgements & Ship Notices VWR can provide automatic order acknowledgements & ship notices via e-mail for any order placed.
- Order Status/Tracking/History Check on the status of any order—no matter how you placed it (web, phone, fax, etc.).

- On-Line Invoices and Packing Slips
- Third-Party Purchasing & Spot Buy Ordering Support VWR supports a variety of options that allow you to
 use VWR.com as your marketplace for all vendors and products.
- Robust Product Content Make educated product choices with our redesigned product pages where, depending on the product, display:
 - Organized tabs for ordering information, specifications & accessories
 - Links to related product literature
 - o Photos
 - o Icons that offer visual depictions of key product attributes
 - o Links to MSDS & product certificate info

Support for Your Purchasing & Settlement Regulrements

VWR.com offers many configurable options to support your procure-to-pay requirements including:

- Multi-Level Approval Routing Allows requisitions to be routed to a supervisor, buyer, procurement officer, etc. so orders can be reviewed and approved prior to submission.
- Accounting Data Pass-Through VWR.com can support the transmission of accounting data (GL codes, cost centers, charge codes, etc.) that pass through to packing slips and invoices.
- Required Fields Ensure reconciliation accuracy by hard-coding data or requiring mandatory field entry at checkout. You can even rename field labels to match accounting nomenclature.
- Spending Limit Support Set spending limits for each user at the order, line or unit level.
- Support for a Variety of Purchase Methods:
 - Purchase Orders
 - o Credit/Merchant Cards
 - Procurement Cards
 - o Ghost Cards
- Product Blocking Block products from purchase by vendor, commodity, etc.
- Company Administrator Capabilities If desired, you can designate one or more users as company administrators for control over user configuration and site settings.

Our Web Site Just Got Even Better - Announcing ca.vwr.com!

As our customers continue to invest in and migrate to web-based ordering, it is imperative that VWR continue to invest in new tools, technology and enhancements to expand our on-line capabilities. For that reason, we have invested in new web site platform technology that brings many enhancements and new features—as well as a new, streamlined look and feel. The new design is cleaner, more intuitive and launched initially in Canada in May 2011. VWR will continue to roll out this new web experience to other geographies around the world to create a truly global VWR web experience for our customers.

Some of the new or improved features include:

- Expanded Custom Catalogs Now, multiple, color-coded mini-catalogs can be featured on VWR.com, tailored to your needs. These catalogs are a great way to feature preferred products, best buy items or products contained in a storeroom since the items are uniquely highlighted throughout the site and can be weighted higher in search results.
- New Search Capabilities Searching for products on VWR.com just got better with more ways to refine
 and new "auto-suggest" technology, As you enter a search term, the search engine automatically offers
 suggested search terms that you can select.
- Order Reminders Set up automatic reminders that prompt you regarding frequently-placed orders
- On-the-Fly Shopping Gone are the days when the shopping basket is displayed each time a product is
 added to the basket. On the new VWR.com, add products on-the-fly to the basket from throughout the
 site—a great way to speed your shopping sessions! A handy "basket widget" is always available to provide
 a quick update of your basket.
- Organization Shopping Lists Company administrators can now create shopping lists that can be shared with the entire user community.
- Online Help & Tutorial Support We've added more on-line help sections and video tutorials to help with web support—just in case you need it!
- Backorder Alternatives The new VWR.com allows alternative, in-stock products to be offered when a
 product you have selected is not currently in stock.
- Expanded French Language Translations Our Canadian web site now has more content translated to French than ever before. Choose to view the site in French or English—the choice is yours!

VWR will continue to invest in web technologies to meet your ongoing procurement needs and, ultimately, to improve the overall customer experience on the web.

B2B Integration Services at VWR - Best in Class!

Many of our customers have invested in e-procurement applications or marketplaces—VWR International's Integration Services provides best-practice support for customers wanting to interface an ERP/MRP or web procurement application with VWR's website via punchout integration. The team works with customers to develop a scope of work, standard operating procedures and, if necessary, conduct a complete order-to-cash review. VWR International can support global implementations and has standard operating and implementation procedures in place for many solutions including Ariba, SAP, Perfect Commerce, SciQuest, Oracle, PeopleSoft and many others.

To support B2B punch-out integrations, VWR also accepts a variety of electronic transactions (e.g. purchase orders, order acknowledgements, advance ship notices, invoices) via several different standards, including:

- Electronic Data Interchange (EDI)
- cXML
- xCBL

These scalable standards are recommended for use with most B2B integrations because they are easy to implement and support and help to "close the loop" of the order-to-cash process.

SOLICITATION NUMBER: LABSUP13

Addendum Number: 1

The purpose of this addendum is to modify the solicitation identified as LABSUP13 ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum	Category:
---------------------	-----------

[X]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
[X]	Other

Description of Modification to Solicitation: To provide the pricing pages and extend the bid opening date. The bid opening has moved from 01/17/2013 to 01/31/2013. The bid opening time remains at 1:30 pm. Also, the question deadline has been extended from 01/03/2013 to 01/18/2013 at 5:00 pm.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

ATTACHMENT A

 To add the following language to the end of the first paragraph of Section IV(3)(b) Pricing Page Calculations:

When using the electronic version of the Pricing Pages, vendor should insert the Discount Percentage for each category in the table on the last page of the Pricing Pages. When the Discount Percentage is appropriately listed in the table, the column labeled "Discount Percentage" will automatically populate with the Discount Percentage for that category.

- 2. Pricing pages attached. The Pricing Pages were created as a Microsoft Excel document and Vendor can request an electronic copy for bid purposes by sending an email request to the following address: Tara.L.Lyle@wv.gov. Vendors are strongly encouraged to complete the Pricing Pages in its electronic form.
- 3. The question deadline has been extended from 01/03/2013 to 01/18/2013 at 5:00 pm.

VENDOR QUESTION DEADLINE: Vendors may submit questions relating to this Solicitation to the Purchasing Division. Questions must be submitted in writing. All questions must be submitted on or before the date listed below and to the address listed below in order to be considered. A written response will be published in a Solicitation addendum if a response is possible and appropriate. Non-written discussions, conversations, or questions and answers regarding this Solicitation are preliminary in nature and are non-binding.

Submit Questions to: Tara Lyle, File 32

2019 Washington Street, East

P.O. Box 50130

Charleston, WV 25305

Fax: 304-558-4115

Email: Tara.L.Lyle@wv.gov

4. The bid opening has been moved from 01/17/2013 to 01/31/2013. The bid opening time remains at 1:30 pm.

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: LABSUP13

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:											
(Check the	box next to each addendum	received	1)								
[X]] Addendum No. 1]]	Addendum No. 6							
[]	Addendum No. 2]]	Addendum No. 7							
. []	Addendum No. 3]]	Addendum No. 8							
[]	Addendum No. 4	[]	Addendum No. 9							
[]	Addendum No. 5	[]	Addendum No. 10							
I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.											
		V	WR	International, LLC.							
Company /											
				Jan Mallell							
				Authorized Signature							
		\mathcal{U}_{-}	2/	8/2013							
				Date							

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.



DATE PRINTED .

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Solicitation

J.

å».	NUMBER			4	'n
	LABSU	P	1	 3	

ADDRESS CORRESPONDENCE TO ATTENTION OF:

TARA LYLE 304-558-2544

RFO COPY TYPE NAME/ADDRESS HERE VWR INTERNATIONAL, LLC 1050 SATELLITE BLVD SUWANEE, GEORGIA 30024

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

01/15/2013 BID OPENING DATE: 02/06/2013 BID OPENING TIME ITOM NUMBER AMOUNT QUANTITY CAR UNIT PRICE LING . UOP: ADDENDUM NO. 2 SEE ATTACHED PAGES. END OF ADDENDUM NO. 2 0001 EA 175-00-00-001 SUPPLIES: LAB (GLASS/PLASTICWARE, CHEMICALS, ETC.) \$3,632,532.32 THIS IS THE END OF REQ LABSUP13 ***** TOTAL: TELEPHONE 800-932-5000 SIGNATURE 2/8/2013 HILE ADDRESS CHANGES TO BE NOTED ABOVE Quotes Contracts Admin 56-2445503

SOLICITATION NUMBER: LABSUP13

Addendum Number: 2

The purpose of this addendum is to modify the solicitation identified as LABSUP13 ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum	Category:
---------------------	-----------

[X]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
[X]	Other

Description of Modification to Solicitation: The question deadline has been extended from 01/18/2013 to 01/23/2013 at 5:00 pm. The bid opening has moved from 01/31/2013 to 02/06/2013. The bid opening time remains at 1:30 pm.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

1. The question deadline has been extended from 01/18/2013 to 01/23/2013 at 5:00 pm.

VENDOR QUESTION DEADLINE: Vendors may submit questions relating to this Solicitation to the Purchasing Division. Questions must be submitted in writing. All questions must be submitted on or before the date listed below and to the address listed below in order to be considered. A written response will be published in a Solicitation addendum if a response is possible and appropriate. Non-written discussions, conversations, or questions and answers regarding this Solicitation are preliminary in nature and are non-binding.

Submit Questions to: Tara Lyle, File 32

2019 Washington Street, East

P.O. Box 50130

Charleston, WV 25305

Fax: 304-558-4115

Email: Tara.L.Lyle@wv.gov

2. The bid opening has been moved from 01/31/2013 to 02/06/2013. The bid opening time remains at 1:30 pm.

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.; LABSUP13

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

necessary rev	risions to my proposal, plans a	and/	or s	pecification, etc.
Addendum I	Numbers Received:			
	ox next to each addendum rec	eive	d)	
[]	Addendum No. 1	[J	Addendum No. 6
r VI	4.111			
[X]	Addendum No. 2	L]	Addendum No. 7
[]	Addendum No. 3	ſ	1	Addendum No. 8
	7,07,0	L	J	Addendan 140, 8
[]	Addendum No. 4	1)	Addendum No. 9
			- 25	
[]	Addendum No. 5]	Addendum No. 10
I understand th	hat failure to confirm the rece	eint a	of ac	ldenda may be cause for rejection of this bid. I
turther unders	tand that that any verbal repr	esen	tatio	made or assumed to be made during any and
discussion lief	d between Vendor's represen	tativ	es a	nd any state personnel is not hinding. Only the
information is	sued in writing and added to	the s	peci	fications by an official addendum is binding.
				6
			WR .	International, LLC
				Company
			1	Ein M. M. II
	/	/	A CO	Authorized Signature
				S. S
			2/8/	2013
				Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.



NOOTH

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Solicitation NUMBER

LABSUP13

/ PAGE (

Andhess connespondence to attention of:

TARA LYLE 304-558-2544

BY ORDER

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRIN	TED.]								
01/31/						nxn	OBERTA	NG TIME	. 01	130PM
BID OPENING DATE		02/13/		SPRAY	18375 N.C. 601 (VC)			UNIT PRICE	2. 5.4 . 5 . S. S	AMOUNT
LINE	QUA	YIIIY	UUP .	OAT. NO.	ITEM NUMC	ILII	200	UNIT PRICE	3,718,4900	Mildori
		VI)	DENDU	M NO.	3					
	000 43	TACHED	DAGE	e						
	SEE A	INChen	I AGE	3.						
		END O	F ADD	ENDUM	NO. 3					
0001			EΑ		175-00-00	-001				
		1	0 (0)	A 0.0 / E	LASTICWARI	: CHE	TCALS	. FTC.)	
	SUPPI.	IEST LA	B COL	.45571	LASTICHAR	., one	Tonco	, 110,	•	
			1							
				l						
			1							
	****	¥ THIS	TS	HE E	D OF REQ	LABSU	JP13 *	****	TOTAL	\$3,632,532.32
	10000		1	1						
			1							
							1			
1	Ī									
			/							
	1/	\/ <u>\</u>	11/	//		7.8027.30				Charles and the control of the contr
SIGNATURE	for	MAK	ul	V		BOO-93	2-5000		DATE 2/1	3/2013
min /		3.0	FEIN E.G.	2445503				ADDRES	S CHANGE	S TO BE NOTED ABOVE
Dir-Quotes&	contracts	a Admin.	50-	2113303					ADOUR I	ADELED WENDOD!

WHEN RESPONDING TO SOLICITATION, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

SOLICITATION NUMBER: LABSUP13 Addendum Number: 3

The purpose of this addendum is to modify the solicitation identified as LABSUP13 ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum Category:

[X]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
f 1	Correction of error
[]	Other

Description of Modification to Solicitation: The bid opening has moved from 02/06/2013 to 02/13/2013. Responses to vendor questions will be issued under separate addendum.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: LABSUP13

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

			umbers Received: x next to each addendum recei	ved)	
	Į]	Addendum No. 1	[]	Addendum No. 6
	[)	Addendum No. 2	[]	Addendum No. 7
	(x)	Addendum No. 3	[]	Addendum No. 8
	[]	Addendum No. 4	[]	Addendum No. 9
	[]	Addendum No. 5	1)	Addendum No. 10
furthe discus	une sion	lers hel	tand that that any verbal repre d between Vendor's represent	seni ativ	latio es a	Idenda may be cause for rejection of this bid. I on made or assumed to be made during any oral and any state personnel is not binding. Only the ifications by an official addendum is binding.
			6	/	Je /	International, LLC. Company Authorized Signature
						Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.



Stato of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Solicitation NUMBER LABSUP13

LYOE ...

TARA LYLE 304-558-2544

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

REQ COPY TYPE NAME/ADDRESS HERE

DATE PRINT	red / % / #									•
02/10/	2013		0017			RTh	првил	NG TIM	F 01	L130PM
BID OPENING DATE:	1300 900 W	02/28/	2013	2 WAYES	ZANNIN DAN	and the second second		UNIT PRICE	A. S. Call 26	AMOUNT
LINE	QUAI	YIIIN	yop .	OAT, No.	ITEM NUM	JEH			33/10/	<u> </u>
	2 - 100 ptot 100	<u> </u>	V. 112 /4E							
				1						
		Δn	nENDU	M NO.	6					
		,,,,	DIATE OF		15					
	SEE AT	TACHED	PAGE	s,						
		END	OF A	DDEND	UM NO. 4					
	ľ						l.			
			C V		175-00-00	-001	1			
0001			EA		175 00 00	001				
	OHDDI 1	1	n cet	ASS/F	LASTICWAR	E, CHEN	ICAL.	S, ETC.	.)	
	SUPPL	icoi in	0 (0)	,,,,,,,,			1			
1							1			
							1			
							1			
1			1	VIIV 100 - 100-100					TOTAL	\$3,632,532.32
	****	X THIS	IS.	THE E	D OF REQ	LABS	UP 13	*****	TOTAL	·
	1									
	1									
	1									
*	1			1						
			1		1					
			1				1	29	-	
			1							
					1	·				
				1						
	.]									
							40			
1										
S. 14 (51) - 31	(2 : (1.9) 22.55	4. 35 <u>/</u> 403/40	71//	otases	ide elemen					re
SIGNATURE /	11/	THE MA	111/2			TELEPHONE 800-93	2-5000)	DA1	2/14/2013
1000	12:00	10 (016)	FEIN			Jana				RES TO BE NOTED ABOVE
Dir- Oxotes	s&Contra	acts Adm	in	56	- 2445503	WID VDI)BESS			LABELED 'VENDOR'

WHEN RESPONDING TO SOLICITATION, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

SOLICITATION NUMBER: LABSUP13

Addendum Number: 4

The purpose of this addendum is to modify the solicitation identified as LABSUP13 ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum Category:

[}	()	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
[]	Other

Description of Modification to Solicitation: The bid opening has moved from 02/13/2013 to 02/28/2013. Responses to vendor questions will be issued under separate addendum.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: LABSUP13

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

(Check the box next to each addendum received)

]]	Addendum No. 1	[]	Addendum No. 6
	[]	Addendum No. 2	[]	Addendum No. 7
	[]	Addendum No. 3]]	Addendum No. 8
	[X]	Addendum No. 4	[]	Addendum No. 9
	[]	Addendum No. 5]]	Addendum No. 10
furthe discus	r une	ders hel	tand that that any verbal repre d between Vendor's represent	semativ	tatio res a spec	Idenda may be cause for rejection of this bid. I on made or assumed to be made during any oral and any state personnel is not binding. Only the ifications by an official addendum is binding. International, LLC.
				-	VOICE/ 22	Company
						1 - 2 - 1//
					_	him MeMUL

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

2/14/2013

Authorized Signature

Date



REQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Solicitation

NUMBER LABSUP13

*** PAGE ***

Address correspondence to attention of:

TARA LYLE 304-558-2544

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRINTED 02/19/2013

BID OPENING DATE	03/07	/2013	ВYn	OPENING TIME 0	. 7000
LINE	QUANTITY	UOP OAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
		ADDENDUM NO	n. 5		
	SEE ATTACH				
	, OLL ATTAOM	LD TAGGG			
	E	NO OF ADDE	DUM NO. 5		
					T.
0.0.0.1					
0001	1	EA	175-00-00-001		
	SUPPLIEST	AB (GLASS/P	LASTICWARE, CHEM	ICALS, ETC.)	
	***** THIS	IS THE EN	D OF RFQ LABSU	P13 ***** TOTAL:	\$3,632,532.32
			•		
		,			
			2.		
			_		
SIGNATURE	1211 1111		TELEPHONE	Ιολής	
nire /	-15/VU //V/	WILLY	TELEPHONG 800-932		25/2013
D1r-Quótes&Co	ontracts Admin	56-2445503	OFFILM I	ADDRESS CHANGES	TO BE NOTED ABOVE
AALICIA HE	SOLDMINIMO 10 SC	JUNIATION, IN	ISERT NAME AND ADDR	ESS IN SPACE ABOVE LA	BELED 'VENDOR'

SOLICITATION NUMBER: LABSUP13

Addendum Number: 5

The purpose of this addendum is to modify the solicitation identified as LABSUP13 ("Solicitation") to reflect the change(s) identified and described below.

Applicable	Addendum	Category

[X]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[X]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
f 1	Other

Description of Modification to Solicitation: The bid opening has moved from 02/28/2013 to 03/07/2013. Responses to vendor questions and revised pricing pages attached.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

ATTACHMENT A

Questions:

- Q1: In order to provide the State with more advantageous pricing, are we allowed to modify the categories, specifically the Miscellaneous ones (5, 6, & 9)?
- A1: No. The attached revised pricing pages should be used.
- Q2: There are concerns to Section II, Definition #9 "Eligible Items. It is stated that lab supplies are specifically excluded from the bid however, the bid is all lab supply items. Please clarify.
- A2: Delete Item 9 Eligible Item in its entirety and replace with the following:
 - 9. "Eligible Item" means any laboratory supplies in the Vendor's Catalogue, excluding anything already included on a pre-existing contract held by the State. Incontinence products, latex gloves, and medical supplies are specifically excluded from the definition of Eligible Items under this LABSUP13 Contract.
- Q3: Can VWR's website be used as our catalog?
- A3: See Section 4 Catalogue, subsection (a) Submission of the RFQ.
- Q4: With the term "medical" being used in the definition of "Eligible Items" does this mean that our non-medical products are not considered part of this bid? Are we to quote only the items listed on the pricing pages?
- A4: See Question 2 and response above.
- Q5: Will the discounts offered for the categories be applicable to products not listed on the price sheet?
- A5: Yes.

Clarifications:

- C1: The following items were corrected or revised on the attached pricing pages:
 - Item No. 4 Unit (for calculation purposes) changed from quart to each.
 - Item No. 5 Unit (for calculation purposes) changed from gram to ounce.
 - Item No. 107 Manufacturer Product No. changed from 8244V60 to 8244V70 and estimated quantity changed from 100 to 50.

- Item No. 184 Manufacturer Product No. changed from 9544T745 to 9544T45. The Description also revised.
- C2: Revised pricing pages attached. An electronic version of the pricing pages are available on the Purchasing Bulletin.
- C3: The bid opening has moved from 02/28/2013 to 03/07/2013.

**** No additional questions will be accepted on this RFQ. ****

LABS 13 - Pricing Pages - Revised

Pricing p	ing page Eligible Item Description - All references to brand names a or illustration purposes only and vendors may be the brand listed or an equal product.			D	iscounted U	Jnit	Price C	alculatio	n		Bid Total Calculation						
Item No.	Manufacturer Product No.	Description	Category	 talogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage	11000000	counted lit Price	Unit (For Calculation Purposes)	Estimated Unit Qty	I SECTION STORY	counted t Price	Item Total Cost		
l.	Lab Chemicals																
1	C006T94	ACETONE 4L UN1090-3	1 Lab chemicals	\$ 150.95	4	\$	37.74	2%	\$	36.98	1 Liter	1,000	\$	36.98	\$36,982.75		
		Bromothymol Blue Indicator,	1 Lab chemicals	\$ 30.72	500	\$	0.06	2%	\$	0.06	1 mL	1,000	\$	0.06	\$60.21		
3	C030R32	Ammonium Hydroxide (28.0-30.0% as NH) 500 mL AR®	1 Lab	\$ 184.15	3000	\$	0.06	2%	\$	0.06	1 mL	500	\$	0.06	\$30.08		
4	1232A71	STERIKON PLUS BIOINDICAT	1 Lab chemicals	\$ 53.10	15	\$	3.54	2%	\$	3.47	1 each	500	\$	3.47	\$1,734.60		
5	4120G23	BUFFER SOLUTN PH7.1QT(950ML)	1 Lab chemicals	\$ 40.80	16.907	\$	2.41	2%	\$	2.36	1 oz	500	\$	2.36	\$1,182.47		
6	C121A05	PEPTONE WATER 500G	1 Lab chemicals	\$ 90.12	500	\$	0.18	2%	\$	0.18	1 Gram	1,000	\$	0.18	\$176.64		
7	4120G62	BUFR PH7 COLOR- CODE 1GAL	1 Lab chemicals	\$ 143.11	135.256	\$	1.06	2%	\$	1.04	1 oz	1,000	\$	1.04	\$1,036.91		
8	4120G70	BUFR PH10 COLOR- CODE 1GAL	1 Lab chemicals	\$ 65.45	135.256	\$	0.48	2%	\$	0.47	1 oz	1,000	\$	0.47	\$474.22		
9	C180N07	CHLORIDE STD 1000PPM 500ML	1 Lab chemicals	\$ 47.84	500	\$	0.10	2%	\$	0.09	1 mL	1,000	\$	0.09	\$93.77		
	C184E68	CHLOROFORM MCB/EM CX1054. 4L UN1888-6.1	1 Lab	\$ 203.06	4	\$	50.77	2%	\$	49.75	1 Liter	500	\$	49.75	\$24,874.85		
10	C000P59	EDTA DISODIUM SALT DIHYDRATE, 500g	1 Lab chemicals	\$ 55.71		\$	0.11	2%	\$	0.11	1 Gram	500	\$	0.11	\$54.60		
12	0609P15	ETHYL ALCOHOL 95% DENATUR 20L UN1175-3	1 Lab	\$ 311.02	20	\$	15.55	2%	\$	15.24	1 Liter	500	\$	15.24	\$7,619.99		
13	4153W50	FILLING SOLN 3M KCL PK 5X50ML	1 Lab chemicals	\$ 93.82	300	\$	0.31	2%	\$	0.31	1 mL	500	\$	0.31	\$153.24		

Pricing are for illu	stration purposes onl	scription - All references to y and vendors may be the b	brand names and listed or an	D	iscounted U	Jnit	, rice C	alculatio	n		Bid Total Calculatio						
Item No.	Manufacturer Product No.	Description	Category	alogue rice	Units Provided for Catalogue	Unit Price		Discount Percentage	Discounted Unit Price		Unit (For Calculation Purposes)	Estimated Unit Qty		ounted Price	Item Total Cost		
14		FORMALIN NEUT BUFF 10% 4L	1 Lab chemicals	\$ 46.30	15.1416	\$	3.06	2%	\$	3.00	1 Liter	500	\$	3.00	\$1,498.32		
15	0190C20	FTA HEMAGLUTINAT BUF 500G	1 Lab chemicals	\$ 65.37	453.592	\$	0.14	2%	\$	0.14	1 Gram	500	\$	0.14	\$70.62		
	C376G23	GRAM Stain Set w/ Stab Iodine	1 Lab	\$ 53.80	1	\$	53.80	2%	\$	52.72	1 set	300	\$	52.72	\$15,817.20		
16	6705C27	IMMERSION OIL	1 Lab	\$ 67.69	16	\$	4.23	2%	\$	4.15	1 oz	300	\$	4.15	\$1,243.80		
17		ISOPENTYL ALCOHOL AR(ACS)	1 Lab	\$ 161.06	500	\$	0.32	2%	\$	0.32	1 mL	500	\$	0.32	\$157.84		
18	C036Q81	ISOPROPYL ALCOHOL ACS PP	1 Lab		0.5	\$	32.00	2%	\$	31.36	1 Liter	500	\$	31.36	\$15,680.00		
19	C001P37	MAGNESIUM CHLORIDE REAG	1 Lab	\$ 16.00	500	\$	0.25	2%	\$	0.24	1 Gram	1,000	\$	0.24	\$241.82		
20	C468S48 C000N05	METHANOL BJ HPLC		\$ 69.98	1	\$	69.98	2%	\$	68.58	1 Liter	1,000	\$	68.58	\$68,580.40		
21	C490D66	METHANOL LC/MS REAGENT 4X4L UN1230-3	1 Lab	\$ 136.22	4	\$	34.06	2%	\$	33.37	1 Liter	500	\$	33.37	\$16,686.95		
22		METHANOL MCB MX485. 20 L	1 Lab	\$ 301.41	20	\$	15.07	2%	\$	14.77	1 Liter	300	\$	14.77	\$4,430.73		
23	C490B20	METHYL PURPLE	1 Lab	\$ 21.02		\$	0.04	2%	\$	0.04	1 mL	500	\$	0.04	\$20.60		
24	3241N68	METHYL RED NEUTRAL ACS R	1 Lab			\$	1.17	2%	\$	1.14	1 Gram	500	\$	1.14	\$571.99		
25	0146N36	25GM METHYLENE BLUE	1 Lab	\$ 35.02 27.32		\$	1.09	2%	\$	1.07	1 Gram	500	\$	1.07	\$535.47		
26	C001Z78	25g METHYL-T-BUTYL	chemicals 1 Lab	\$		\$	176.94	2%	\$	173.40	1 Liter	500	\$	173.40	\$86,700.60		
27	C001Q74	M-FC W/ROSOLIC ACID 2ML PK 50	1 Lab	\$ 176.94 75.64		\$	0.76	2%	\$	0.74	1 mL	1,000	\$	0.74	\$741.27		

Pricing are for ill	page Eligibl 1 Des	scription - All references to	brand names			iscounted U	Jnit	. rice (alculation	Bid Total Calculatio						
Item No.	Manufacturer Product No.	Description	Category	NOCOL MICH.	alogue Price	Units Provided for Catalogue Price	Unit Price		Discount Percentage	Discounted Unit Price		Unit (For Calculation Purposes)	Estimated Unit Qty	Discounted Unit Price		Item Total Cost
29	B001B09	INO DIO CIGGO I I I	1 Lab chemicals	\$	79.55	1000	\$	0.08	2%	\$	0.08	1 mL	500	\$	0.08	\$38.98
	B003L61	MOLECULAR GRADE	1 Lab chemicals	\$	128.00	6	\$	21.33	2%	\$	20.91	1 Liter	400	\$	20.91	\$8,362.67
30	C001R64	PH BUFFER 4.0 REF	1 Lab	\$	133.49	4	\$	33.37	2%	\$	32.71	1 Liter	500	\$	32.71	\$16,352.53
31	C001R04	PH BUFFER 7.0 REF	1 Lab	\$	134.19	4	\$	33.55	2%	\$	32.88	1 Liter	500	\$	32.88	\$16,438.28
32	C624W38	POT PHOSPHATE RE		\$	106.53	500	\$	0.21	2%	\$	0.21	1 Gram	500	\$	0.21	\$104.40
	C609Q42	POT. BROMIDE MCB PX 1378. 25G	1 Lab	\$	88.56	25	\$	3.54	2%	\$	3.47	1 Gram	500	\$	3.47	\$1,735.78
34		POTASSIUM CHLRD EA500G	1 Lab	\$	51.58	500	\$	0.10	2%	\$	0.10	1 Gram	500	\$	0.10	\$50.55
35	0612B10	POTASSIUM PHTHALATE AR	1 Lab	\$	178.66	500	\$	0.36	2%	\$	0.35	1 Gram	500	\$	0.35	\$175.09
36	C604G60	SOD HYDROXIDE 50% AQUEOUS 4L	1 Lab	\$	120.53	3.78541	\$	31.84	2%	\$	31.20	1 Liter	500	\$	31.20	\$15,601.93
37	C001C81	SOD.HYDROX- SOD.THIOSULF 4L	1 Lab chemicals	\$	120.53		\$	31.84	2%	\$	31.20	1 Liter	500	\$	31.20	\$15,601.93
38	C716F54	UN1824-8 SODIUM BICARBONATE RGT	1 Lab		129.92		\$	10.83	2%	\$	10.61	1 kg	500	\$	10.61	\$5,305.07
39	0610M30 0610L99	PO 12KG SODIUM BORATE SX0355-1 500G	chemicals 1 Lab chemicals	\$	61.73		\$	0.12	2%	\$	0.12	1 Gram	500	\$	0.12	\$60.50
	C709K05	SODIUM CARBONATE ANHYDRO 500G	1 Lab	\$	67.10		\$	0.13	2%	\$	0.13	1 Gram	500	\$	0.13	\$65.76
41	C710L58	SODIUM CHLORIDE	1 Lab chemicals	\$	76.97		\$	6.41	2%	\$	6.29	1 kg	500	\$	6.29	\$3,142.94
43	C714F02	SODIUM DOD.SULFATE UPR RE100G UN1325-4.1	1 Lab	\$	165.00	500	\$	0.33	2%	\$	0.32	1 Gram	500	\$	0.32	\$161.70
44	C715N58	SODIUM HYDROXID ACS 12KG UN1823-	E 1 Lab	\$	185.83	3 12	\$	15.49	2%	\$	15.18	1 kg	500	\$	15.18	\$7,588.06

		- 10				-	_		_						
stration purposes only	and vendors may be the br	brand names and listed or an		D	iscounted U	Init	Price C	alculation	Bid Total Calculation						
Manufacturer Product No.	Description	Category		Catalogue Price Units Provided for Catalogue Price				Discount Percentage			Unit (For Calculation Purposes)	Estimated Unit Qty	, and a contract of the contra	FORTIN DEPOSIT CO.	Item Total Cost
			\$	26.80	500	\$	0.05	2%	\$	0.05	1 Gram	500	\$	0.05	\$26.26
3	SODIUM SULFATE ANHY POWDE	1 Lab	\$	20.87	500	\$	0.04	2%	\$	0.04	1 Gram	500	\$	0.04	\$20.45
	SODIUM SULFATE	1 Lab chemicals	\$	59.26	500	\$	0.12	2%	\$	0.12	1 Gram	500	\$	0.12	\$58.07
5721255	Sodium Thiosulfate 5-	1 Lab chemicals	\$	53.57	500	\$	0.11	2%	\$	0.10	1 Gram	500	\$	0.10	\$52.50
	SULFATE	1 Lab chemicals	\$	73.48	473.176	\$	0.16	2%	\$	0.15	1 mL	500	\$	0.15	\$76.09
07.1222	SULFURIC ACID	1 Lab chemicals	\$	50.83	3.78541	\$	13.43	2%	\$	13.16	1 Liter	1,000	\$	13.16	\$13,159.31
0.10.00	SULFURIC ACID	1 Lab chemicals	\$	45.16	500	\$	0.09	2%	\$	0.09	1 mL	1,000	\$	0.09	\$88.51
	The Table of Court of the property of the prop		s	180.39	2.5	\$	72.16	2%	\$	70.71	1 Liter	1,000	\$	70.71	\$70,712.88
		1 Lab chemicals	\$	105.95	4	\$	26.49	2%	\$	25.96	1 Liter	500	\$	25.96	\$12,978.88
		1 Lab chemicals	\$	135.52	3.78541	\$	35.80	2%	\$	35.08	1 Liter	500	\$	35.08	\$17,542.30
	TRIS (BUFFER) BAR	1 Lab chemicals	\$	132.48	500	\$	0.26	2%	\$	0.26	1 Gram	500	\$	0.26	\$129.83
Culture Media													-		
C874L05	XYLOSE LYSIN DEXYCHLT USP 500GM	Culture Media	\$	124.32	500	\$			\$			500	\$	0.24	\$118.10 \$298.51
C010Q77	AGAR NOBLE 100G	Culture Media	\$	157.11	100	\$	1.57	5%	\$	1.49	1 Gram	200	*	1.49	φ230.51
		Culture Media	\$	191.27	500	\$	0.38	5%	\$	0.36	1 Gram	500	\$	0.36	
C383R20	LACTOSE BROTH 500G	Culture Media	\$	72.27	500	\$	0.14	5%	\$	0.14	1 Gram	500	\$	0.14	\$68.66
	Manufacturer Product No. C715Q16 0611P49 C724B56 C998X07 C742D20 C748W07 C746D50 C000A75 C864T84 4210F40 C833U40 Culture Media C874L05 C010Q77 C383W70	Manufacturer	Manufacturer Product No. Description Category C715Q16 SODIUM HYDROXIDE PEL 500GM UN1823-8 chemicals SODIUM SULFATE ANHY POWDE SOOGM 1 Lab chemicals C724B56 SODIUM SULFATE ANHY POWDE SOOGM 1 Lab chemicals C724B56 SODIUM SULFATE SOOGM 1 Lab chemicals C998X07 SODIUM SULFATE SOOGM 1 Lab chemicals C998X07 SULFATE STANDARD 500ML 1 Lab chemicals C742D20 SULFATE STANDARD 500ML 1 Lab chemicals C748W07 SULFURIC ACID OLD SOOML UN1830-8 1 Lab chemicals C746D50 SULFURIC ACID ACS 2.5L UN1830 1 Lab chemicals C864T84 WATER EA 4L 1 Lab chemicals C864T84 WATER EA 4L 1 Lab chemicals C833U40 TISAB BUFFER 3.8L 1 Lab chemicals C833U40 TRIS (BUFFER) BAR 500G 1 Lab chemicals C874L05 500GM Culture Media C874L05 500GM Culture Media C010Q77 AGAR NOBLE 100G Culture Media LACTOSE BROTH Culture Media	Manufacturer Product No. Description Category Category	Manufacturer Product No. Description Category Catalogue Price C715Q16 SODIUM HYDROXIDE PEL 500GM UN1823-8 chemicals \$ 26.80 SODIUM SULFATE ANHY POWDE 500GM 1 Lab chemicals \$ 20.87 C724B56 BAR PEST 500GM chemicals \$ 59.26 C998X07 SODIUM SULFATE ANHY POWDE 500GM chemicals \$ 59.26 C998X07 SODIUM SULFATE CHEMICAL SOUGH CH	Manufacturer	Manufacturer	Manufacturer Product No. Description Category Catalogue Price Catalogue Price Catalogue Price Pr	Manufacturer	Manufacturer	Manufacturer Product No. Description Category Catalogue Price Catalogue Price Price	Manufacturer Product No. Description Category Catalogue Price Pr	### Product No. Description Category Catalogue Price Price Catalogue Price Price Price Discount Price Discount Price Catalogue Price Price Price Discount Price Disco	Manufacturer Product No. Description Category Catalogue Price Pr	Manufacturer Product No. Description Category Catalogue Price Product for Galalogue Price Price Product No. Description Category Catalogue Price Price Price Price Discounted Dunit Price Discounted Dunit Price Description Category Catalogue Price Price Price Discounted Dunit Price Dunit Pri

Pricing are for illi	ustration purpades on	scription - All references to ly and vendors may be the br equal product.		D	iscounted	Uni	ice (Calculatio	n			Bid Tota	l Ca	lculati	
Item No.	Manufacturer Product No.	Description	Category	talogue Price	Units Provided for Catalogue Price	ı	Unit Price	Discount Percentage		scounted nit Price	Unit (For Calculation Purposes)	Estimated Unit Qty		counted it Price	Item Total Cost
60	0195A43	LOW-JENSEN MD. DEEPS	Culture Media	\$ 25.17	1-	\$	25.17	5%	\$	23.91	1 pack	100	\$	23.91	\$2,391.15
61	0343X85	MACCONKEY SORBITOL AGAR 500G	Culture Media	\$ 116.02	500	\$	0.23	5%	\$	0.22	1 Gram	500	\$	0.22	\$110.22
62	C377E40	STAIN GRAM DECOLORIZER 250ML	Culture Media	\$ 49.24	1000	\$	0.05	5%	\$	0.05	1 mL	500	\$	0.05	\$23.39
63	0190E79	SULFAMETHOXAZOL W/TRIMETH	Culture Media	\$ 89.66	1	\$	89.66	5%	\$	85.18	1 pack	500	\$	85.18	\$42,588.50
64	C804M25	TETRATHIONATE BROTH BASE 500G	Culture Media	\$ 56.31	500	\$	0.11	5%	\$	0.11	1 Gram	500	\$	0.11	\$53.49
65	1231L45	TSA PLATE W/5% SB	Culture Media	\$ 68.73	100	\$	0.69	5%	\$	0.65	1 mm	300	\$	0.65	\$195.88
66	C858A01	UVM MODIFIED LISTERIA 500G	Culture Media	\$ 99.35	500	\$	0.20	5%	\$	0.19	1 Gram	500	\$	0.19	\$94.38
67	C863T05	VRB AGAR(VIOLET RED BILE)500GM	Culture Media	\$ 83.09	500	\$	0.17	5%	\$	0.16	1 Gram	500	\$	0.16	\$78.94
III.	Plasticware														
68	2903H07	ACTIVATE SPRAYER + 6 CARTS PR ORM- D	Plasticware	\$ 87.91	1	\$	87.91	8%	\$	80.88	1 each	150	\$	80.88	\$12,131.58
69	1729B40	BOTTLE 5 GALLON. CS 1 16	Plasticware	\$ 221.52	1	\$	221.52	8%	\$	203.80	1 each	100	\$	203.80	\$20,379.84
70	1764J40	BOTTLE DROPPER CLEAR 20Z CS24	Plasticware	\$ 92.67	24	\$	3.86	8%	\$	3.55	1 each	500	\$	3.55	\$1,776.18
71	1758G49	BOTTLE SPRAYER 220Z	Plasticware	\$ 53.29	4	\$	13.32	8%	\$	12.26	1 each	200	\$	12.26	\$2,451.34
72	1717N03	BOTTLE WM LDPE 125ML	Plasticware	\$ 25.66	12	\$	2.14	8%	\$	1.97	1 each	300	\$	1.97	\$590.18
73	1717V08	BOTTLE WM PP 30ML	Plasticware	\$ 51.54	12	\$	4.30	8%	\$	3.95	1 each	200	\$	3.95	\$790.28
74	1720R18	BOTTLE WM SQUAR PP 1000ML	Plasticware	\$ 112.43	6	\$	18.74	8%	\$	17.24	1 each	200	\$	17.24	\$3,447.85

	ustration pur _s onl	scription - All references to y and vendors may be the brequal product.	brand names and listed or an		D	iscounted	Uni	iL ice (Calculatio	n			Bid Total	Cal	culati	
Item No.	Manufacturer Product No.	Description	Category		talogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage		scounted nit Price	Unit (For Calculation Purposes)	Estimated Unit Qty		counted t Price	Item Total Cost
75		BOTTLETOP BURET 50ML	Plasticware	\$ 1	,450.66	1	\$	1,450.66	8%	\$	1,334.61	1 each	1,000	\$ 1	,334.61	\$1,334,607.20
76		BTL LDPE NRW.MTH 500ML.	Plasticware	\$	149.91	48	\$	3.12	8%	\$	2.87	1 each	500	\$	2.87	\$1,436.64
77	1753F80	CARBOY W/SPIGOT 5L	Plasticware	\$	196.97	1	\$	196.97	8%	\$	181.21	1 each	500	\$	181.21	\$90,606.20
IV	Glassware									T.						
78	5663F41	BEADS GLASS 5MM.1-LB-CS	Glassware	\$	167.57	1	\$	167.57	7%	\$	155.84	1 each	1,000	\$	155.84	\$155,840.10
79	4429G20	BEAKER FAT/OIL EXTRACTOR 100ML	Glassware	\$	25.32	100	\$	0.25	7%	\$	0.24	1 mL	500	\$	0.24	\$117.74
80	1709A73	BR AMB GL BOT 80Z 250ML 24414	Glassware	\$	33.97	96	\$	0.35	7%	\$	0.33	1 oz	500	\$	0.33	\$164.54
81	2714S07	CAP SCRWTP PR-	Glassware	\$	44.22	100	\$	0.44	7%	\$	0.41	1 cap	500	\$	0.41	\$205.62
82	3545G10	CYLINDER 1000 ML	Glassware	\$	137.14	1	\$	137.14	7%	\$	127.54	1 each	500	\$	127.54	\$63,770.10
V.	Misc. Expendable Supply															
	1251E12	AUTOCLAVE TAPE	Misc. Expendable Supply	\$	12.81	60	\$	0.21	10%	\$	0.19	1 yd	108	\$	0.19	\$20.75
83	1304F50	BAG 4 MIL.152 X 254	Misc. Expendable	\$	27.91	100	\$	0.28	10%	\$	0.25	1 bag	500	\$	0.25	\$125.60
84	1303N28	BAG WHRLPK FLTR 7.5X12IN	Misc. Expendable Supply	\$	368.24	250	9	1.47	10%	\$	1.33	1 bag	500	\$	1.33	\$662.83
85 86	1228X76	BATTERY OVATION	Misc. Expendable Supply	\$	14.33	1	9	\$ 14.33	10%	\$	12.90	1 each	50	\$	12.90	\$644.85
87	8495V17	CELL 340-750NM 4.5ML	Misc. Expendable Supply	\$	126.42	500		\$ 0.25	10%	\$	0.23	1 each	500	\$	0.23	\$113.78

Pricing are for il	page Eligibl 1 De ustration purposes or	escription - All references aly and vendors may be the be equal product.	to brand names orand listed or an	D	iscounted	Uni	t . rice C	Calculatio	n	5 mg/s		Bid Tota	l Ca	lculatic.)
ltem No.	Manufacturer Product No.	Description	Category	 talogue Price	Units Provided for Catalogue Price	F	Unit Price	Discount Percentage	1000000	scounted nit Price	Unit (For Calculation Purposes)	Estimated Unit Qty	1100000	counted it Price	Item Total Cost
88	2594G50	CENTRIFUGE TUBE 15 ML.	Misc. Expendable Supply	\$ 110.09	125	\$	0.88	10%	\$	0.79	1 tube	500	\$	0.79	\$396.32
89	2610L45	CENTRIFUGE TUBE POLYSTYRN 15ML	Misc. Expendable Supply	\$ 246.65	500	\$	0.49	10%	\$	0.44	1 tube	500	\$	0.44	\$221.99
90	2610L52	CENTRIFUGE TUBE PP 50ML	Misc. Expendable Supply	\$ 323.87	500	\$	0.65	10%	\$	0.58	1 tube	500	\$	0.58	\$291.48
91	2904A20	CHEESECLOTH WIPE	Misc. Expendable Supply	\$ 156.41	120	\$	1.30	10%	\$	1.17	1 wipe	500	\$	1.17	\$586.54
92	2715H32	CI FILMNT THE 5973	Misc. Expendable Supply	\$ 343.74	1	\$	343.74	10%	\$	309.37	1 each	300	\$	309.37	\$92,809.80
93	2848Y40	CLAMP PINCH 1/4-7/16	Misc. Expendable Supply					10%			1 clamp	300			
94	2702A41	CLEAR HR VIAL	Misc. Expendable Supply	\$ 150.58	100	\$	1.51	10%	\$	1.36	1 each	300	\$	1.36	\$406.57
95	1223K14	ClickSeal Centrifuge Tube 0.65ml Blue	Misc. Expendable Supply	\$ 106.12	1000	\$	0.11	10%	\$	0.10	1 tube	. 500	\$	0.10	\$47.75
96	9853Q02	CONTAINER, STERILE WITH SODIUM THI	Misc. Expendable Supply	\$ 81.34	100	\$	0.81	10%	\$	0.73	1 each	500	\$	0.73	\$366.03
97	3239M50	COND. ONE-SHOT	Misc. Expendable Supply	\$ 28.20	1	\$	28.20	10%	\$	25.38	1 each	200	\$	25.38	\$5,076.00
98	3239M55	COND. ONE-SHOT	Misc. Expendable Supply	\$ 33.76	1	\$	33.76	10%	\$	30.38	1 each	200	\$	30.38	\$6,076.80
99	2714M52	CONICAL GLASS	Misc. Expendable Supply	\$ 117.30	100	\$	1.17	10%	\$	1.06	1 each	300	\$	1.06	\$316.71
100	3274F26	CORK XXXX SIZE 2.	Misc. Expendable	\$ 138.66	500	\$	0.28	10%	\$	0.25	1 each	500	\$	0.25	\$124.79
101	3320C62	CRUCIBLE 40 ML 0.6 MM	Misc. Expendable Supply	\$ 87.49	6	\$	14.58	10%	\$	13.12	1 each	500	\$	13.12	\$6,561.75
102		CULTURE DISH	Misc. Expendable Supply	\$ 166.62	500	\$	0.33	10%	\$	0.30	1 each	500	\$	0.30	\$149.96
102	9217G15	CULTURE TUBE	Misc. Expendable Supply	\$ 393.08	1000	\$	0.39	10%	\$	0.35	1 tube	500	\$	0.35	\$176.89

	lustration purpos on	escription - All references to ly and vendors may be the be equal product.			iscounted	Un	i. rice (Calculatio	n			Bid Tota	l Ca	lculati	
Item No.	Manufacturer Product No.	Description	Category	italogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage		scounted nit Price	Unit (For Calculation Purposes)	Estimated Unit Qty		counted it Price	Item Total Cost
104	9219K13	CULTURE TUBE 75X12MM.	Misc. Expendable Supply	\$ 165.80	500	\$	0.33	10%	\$	0.30	1 tube	500	\$	0.30	\$149.22
105	2903J48	DISCIDE GAL UN1219-3	Misc. Expendable Supply	\$ 46.11	128	\$	0.36	10%	\$	0.32	1 oz	500	\$	0.32	\$162.11
106	9215F90	Disp. Centrifuge Tube, Screw Cap Closure, 15mL	Misc. Expendable Supply	\$ 115.99	125	\$	0.93	10%	\$	0.84	1 tube	500	\$	0.84	\$417.56
107	8244V70	DRENCH HOSE Deck Mount	Misc. Expendable Supply	\$ 496.36	1	\$	496.36	10%	\$	446.72	1 each	50	\$	446.72	\$22,336.20
108	6625B47	DUAL GOOSENECK SELFSUPT 58.4CM	Misc. Expendable Supply	\$ 238.40	1	\$	238.40	10%	\$	214.56	1 each	50	\$	214.56	\$10,728.00
109	4136L96	ELECRTODE BNC	Misc. Expendable Supply	\$ 213.19	1	\$	213.19	10%	\$	191.87	1 each	50	\$	191.87	\$9,593.55
110	3752L20	DESICCANT PACK 150 MM	Misc. Expendable Supply	\$ 37.33	1	\$	37.33	10%	\$	33.60	1 each	50	\$	33.60	\$1,679.85
111	1235B65	ELECT GEN PURP GLASS BODY COM pH range 0-14	Misc. Expendable Supply	\$ 262.85	1	\$	262.85	10%	\$	236.57	1 each	50	\$	236.57	\$11,828.25
112	7732C67	EPTIP 20-300UL	Misc. Expendable Supply	\$ 54.57	1000	\$	0.05	10%	\$	0.05	1 each	2,000	\$	0.05	\$98.23
113	7732C53	EPTIP 2-200UL REFILL CS 960	Misc. Expendable Supply	\$ 64.55	960	\$	0.07	10%	\$	0.06	1 each	500	\$	0.06	\$30.26
114	7732C51	EPTIP 2-200UL TRAY	Misc. Expendable Supply	\$ 54.57	480	\$	0.11	10%	\$	0.10	1 each	500	\$	0.10	\$51.16
115	7732C87	EPTIP 50-1000UL TRAY	Misc. Expendable Supply	\$ 57.62	480	\$	0.12	10%	\$	0.11	1 each	500	\$	0.11	\$54.02
116	1234K85	EPTIPS RACK ST 0.1- 20UL	Misc. Expendable Supply	\$ 120.30	960	\$	0.13	10%	\$	0.11	1 each	1,000	\$	0.11	\$112.78
117	4704N10	FILTER PAPER 7 CM.	Misc. Expendable Supply	\$ 15.54	100	\$	0.16	10%	\$	0.14	1 each	300	\$	0.14	\$41.96
118	4712B30	FILTER PAPER #1 11CM	Misc. Expendable Supply	\$ 14.32	100	\$	0.14	10%	\$	0.13	1 each	300	\$	0.13	\$38.66
119	4716Q25	FILTER PAPER #42 11CM	Misc. Expendable Supply	\$ 46.75	100	\$	0.47	10%	\$	0.42	1 each	300	\$	0.42	\$126.23

								_							
	ustration pur, es onl	scription - All references to y and vendors may be the be equal product.		D	iscounted	Uni	rice (Calculatio	n			Bid Tota	l Ca	lculatic	
Item No.	Manufacturer Product No.	Description	Category	 talogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage	4000000	scounted nit Price	Unit (For Calculation Purposes)	Estimated Unit Qty		counted it Price	Item Total Cost
120	0898U47	FILTER PAPER 230	Misc. Expendable Supply	\$ 9.63	50	\$	0.19	10%	\$	0.17	1 each	300	\$	0.17	\$52.00
121		FILTER UNIT 150ML	Misc. Expendable Supply	\$ 102.41	12	\$	8.53	10%	\$	7.68	1 each	300	\$	7.68	\$2,304.23
122		VOLUMETRIC 1000	Misc. Expendable Supply	\$ 72.74	1	\$	72.74	10%	\$	65.47	1 each	500	\$	65.47	\$32,733.00
123	5003B18		Misc. Expendable Supply	\$ 284.69	12	\$	23.72	10%	\$	21.35	1 each	500	\$	21.35	\$10,675.88
124	4997K76	FLASK VOLUMETRIC 2000 ML	Misc. Expendable Supply	\$ 122.12	1	\$	122.12	10%	\$	109.91	1 each	500	\$	109.91	\$54,954.00
125	5003B51	FLASK VOLUMETRIC 500 ML.	Misc. Expendable Supply	\$ 358.95	6	\$	59.83	10%	\$	53.84	1 each	200	\$	53.84	\$10,768.50
126	1086F40	FOIL 18 IN. X 500FT.	Misc. Expendable Supply	\$ 237.03	500	\$	0.47	10%	\$	0.43	1 ft	500	\$	0.43	\$213.33
127	1094M31	GASPAK CAMPY POUCH SYST	Misc. Expendable Supply	\$ 92.56	20	\$	4.63	10%	\$	4.17	1 ech	100	\$	4.17	\$416.52
128	1094M19	GASPAK EZ C02 CTR SYST	Misc. Expendable Supply	\$ 74.39	20	\$	3.72	10%	\$	3.35	1 each	100	\$	3.35	\$334.76
129	1094L55	GASPAK INDICAT.STRIPS.	Misc. Expendable Supply	\$ 104.36	100	\$	1.04	10%	\$	0.94	1 each	500	\$	0.94	\$469.62
130	2591L04	G-TUBE 2.0ML NATURAL	Misc. Expendable Supply	\$ 35.42	500	\$	0.07	10%	\$	0.06	1 tube	1,000	\$	0.06	\$63.76
131	7010F80	INOCULATING NEEDLE 70 MM PC1	Misc. Expendable Supply	\$ 76.88	1	\$	76.88	10%	\$	69.19	1 needle	500	\$	69.19	\$34,596.00
132	6277K68	IVORY PERFORATED BOWL 3 OZ.	Misc. Expendable Supply					10%			1 bowl	100			
133	1225Z00	KAYDRY 12X12 WIPES	Misc. Expendable Supply	\$ 236.50	15	\$	15.77	10%	\$	14.19	1 wipe	300	\$	14.19	\$4,257.00
134	2904D11	KIMTEX SHOP TOWEL	Misc. Expendable Supply	\$ 22.35	66	\$	0.34	10%	\$	0.30	1 towel	100	\$	0.30	\$30.48
135	2904F24	KIMWIPES SMALL. BX	Misc. Expendable Supply	\$ 7.85	280	\$	0.03	10%	\$	0.03	1 wipe	100	\$	0.03	\$2.52

	ustration pur, es on	scription - All references to ly and vendors may be the bi equal product.			D	iscounted l	Jniv	rice (Calculatio	n			Bid Tota	l Cal	culati	
Item No.	Manufacturer Product No.	Description	Category	W	talogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage		counted it Price	Unit (For Calculation Purposes)	Estimated Unit Qty		ounted Price	Item Total Cost
136	2904F39	KIMWIPES 1PLY	Misc. Expendable Supply	\$	16.29	196	\$	0.08	10%	\$	0.07	1 wipe	100	\$	0.07	\$7.48
137	1234Z62	KIMWIPES LARGE	Misc. Expendable Supply	\$	24.11	140	\$	0.17	10%	\$	0.15	1 wipe	100	\$	0.15	\$15.50
138	6258H12	LABELTAPE WHITE	Misc. Expendable Supply	\$	37.29	3000	\$	0.01	10%	\$	0.01	1 inch	100	\$	0.01	\$1.12
139	7310W22	LABMAT BENCH	Misc. Expendable Supply	\$	62.67	50	\$	1.25	10%	\$	1.13	1 ft	200	\$	1.13	\$225.61
140	9885D43	LARGE WEIGH BOATS	Misc. Expendable Supply	\$	191.86	500	\$	0.38	10%	\$	0.35	1 boat	1,000	\$	0.35	\$345.35
141	7011D73	LOOP HOLDER 6-IN	Misc. Expendable Supply	\$	47.70	1	\$	47.70	10%	\$	42.93	1 each	500	\$	42.93	\$21,465.00
142	7011D70	LOOP HOLDER 8-IN	Misc. Expendable Supply	\$	25.63	1	\$	25.63	10%	\$	23.07	1 each	500	\$	23.07	\$11,533.50
143	3867W60	MAYO DISSECT SCISSORS 5.5" STR	Misc. Expendable Supply	\$	13.60	1	\$	13.60	10%	\$	12.24	1 scissor	100	\$	12.24	\$1,224.00
144	9885D40	MEDIUM WEIGH BOAT	Misc. Expendable Supply	\$	108.42	500	\$	0.22	10%	\$	0.20	1 boat	1,000	\$	0.20	\$195.16
145	7760B50	PASTEUR PIPET 5	Misc. Expendable Supply	\$	126.46	1000	\$	0.13	10%	\$	0.11	1 each	500	\$	0.11	\$56.91
146	1230Z96	PCR TUBES THIN WALL 0.5ML FLT CAP	Misc. Expendable Supply	\$	90.39	1000	\$	0.09	10%	\$	0.08	1 each	1,000	\$	0.08	\$81.35
147	3489B66	PETRI DISH 50X9MM W/PAD	Misc. Expendable Supply	\$	48.57	100	\$	0.49	10%	\$	0.44	1 dish	500	\$	0.44	\$218.57
148	1220Z81	PIPET SERO PLAS	Misc. Expendable Supply	\$	106.02	200	\$	0.53	10%	\$	0.48	1 each	500	\$	0.48	\$238.55
149	1220Z80	PIPET SERO PLAS	Misc. Expendable Supply	\$	221.11	200	\$	1.11	10%	\$	0.99	1 each	500	\$	0.99	\$497.50
150	1222B00	PIPET SEROL DISP 10X.1ML	Misc. Expendable Supply	\$	275.88	1000	\$	0.28	10%	\$	0.25	1 each	500	\$	0.25	\$124.15

	stration pur, 3s onl	scription - All references to y and vendors may be the br			iscounted l	Jnit	ice (Calculatio	n			Bid Total	l Calo	culati	
Item No.	Manufacturer Product No.	Description	Category	alogue Price	Units Provided for Catalogue Price		Jnit rice	Discount Percentage		counted t Price	Unit (For Calculation Purposes)	Estimated Unit Qty		ounted Price	Item Total Cost
151		PIPET TIP 1000uL	Misc. Expendable Supply	\$ 94.86	576	\$	0.16	10%	\$	0.15	1 each	500	\$	0.15	\$74.11
152		PIPT SERO PLAS	Misc. Expendable Supply	\$ 239.10	500	\$	0.48	10%	\$	0.43	1 each	5,000	\$	0.43	\$2,151.90
153	3	PIPT SERO PLAS	Misc. Expendable Supply	\$ 221.29	200	\$	1.11	10%	\$	1.00	1 each	500	\$	1.00	\$497.90
154	1229X57	PLATES TLC GLS	Misc. Expendable Supply	\$ 104.64	25	\$	4.19	10%	\$	3.77	1 plate	500	\$	3.77	\$1,883.52
	1304L24	PLAIN ZIP BG 2MIL	Misc. Expendable Supply	\$ 118.78	1000	\$	0.12	10%	\$	0.11	1 bag	500	\$	0.11	\$53.45
155	6960A07	WELL PLT CL PS CB CS60 96	Misc. Expendable Supply	\$ 132.62	60	\$	2.21	10%	\$	1.99	1 each	500	\$	1.99	\$994.65
156	7310W30	WIPE BIO-SCREEN	Misc. Expendable Supply	\$ 195.66	2	\$	97.83	10%	\$	88.05	1 wipe	500	\$	88.05	\$44,023.50
157		XPIERCE PRE CUT	Misc. Expendable Supply	\$ 59.69	50	\$	1.19	10%	\$	1.07	1 each	500	\$	1.07	\$537.21
158	1230Y22	TUBING 3/8 X	Misc. Expendable	\$ 150.29	50	\$	3.01	10%	\$	2.71	1 tube	300	\$	2.71	\$811.57
159	9521W20	3/32.LGH 12 FT SAMPLE BAG LDPE	Misc. Expendable	\$ 100.76	50	\$	2.02	10%	\$	1.81	1 bag	500	\$	1.81	\$906.84
160	1251T76	9X13" SCALPEL BLADE NO.	Supply Misc. Expendable	\$ 68.12	100	\$	0.68	10%	\$	0.61	1 blade	1,000	\$	0.61	\$613.08
161	3883B55	SCALPEL BLADE NO		68.12		\$	0.68	10%	\$	0.61	1 blade	1,000	\$	0.61	\$613.08
162	3883B59	REAGENT RESERV,50ML,WHT,	Supply Misc. Expendable	\$ 178.31		\$	1.78	10%	\$	1.60	1 mL	500	\$	1.60	\$802.40
163	7684D02	PS,S,IND,1/100 ROLL STOCK KAPAK		\$		\$	5.53	10%	\$	4.98		300	\$	4.98	\$1,493.83
164	1312A29	16"X125ft SMALL WEIGH	Supply Misc. Expendable	\$ 691.59		\$	0.06	10%	\$	0.06		1,000	\$	0.06	\$57.20
165	9885E07 9885D55	SMALL HEXAGON WEIGH DISH	Supply Misc. Expendable Supply	\$ 31.78		\$	0.14	10%	\$	0.12		1,000	\$	0.12	\$123.21

	ustration purpuses on	scription - All references t ly and vendors may be the b equal product.		E	Discounted	Uni	t . rice (Calculatio	n			Bid Tota	l Cal	culatic	
Item No.	Manufacturer Product No.	Description	Category	talogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage		counted it Price	Unit (For Calculation Purposes)	Estimated Unit Qty		ounted t Price	Item Total Cost
167	8608Q65	STIRRING BAR ASSORT.	Misc. Expendable Supply	\$ 97.40	12	\$	8.12	10%	\$	7.31	1 bar	1,000	\$	7.31	\$7,305.00
168	1233M32	SPONGE 6-1/4X 3- 3/8X1"EA	Misc. Expendable Supply	\$ 37.39	12	\$	3.12	10%	\$	2.80	1 sponge	1,000	\$	2.80	\$2,804.25
169	1233M34	SPONGE 6-1/4X4- 1/8X1-5/8"EA	Misc. Expendable Supply	\$ 30.31	6	\$	5.05	10%	\$	4.55	1 sponge	1,000	\$	4.55	\$4,546.50
170	1758G43	SPRAY WASH BOTTLE 240ML	Misc. Expendable Supply	\$ 22.65	3	\$	7.55	10%	\$	6.80	1 bottle	100	\$	6.80	\$679.50
171	3436B40	STOMACHER BAG BA6042	Misc. Expendable Supply	\$ 225.63	250	\$	0.90	10%	\$	0.81	1 bag	500	\$	0.81	\$406.13
172	8741G26	STOPPER 1-HOLE 11- 1/2.1-LB bag	Supply	\$ 67.87	1	\$	67.87	10%	\$	61.08	1 bag	500	\$	61.08	\$30,541.50
173	8745H20	STOPPER NEOPRENE 11. 1-LB BAG	Misc. Expendable Supply	\$ 53.20	1	\$	53.20	10%	\$	47.88	1 bag	500	\$	47.88	\$23,940.00
174	8741G32	STOPPER ONE- HOLE 12.1-LB BAG	Misc. Expendable Supply	\$ 70.16	1	\$	70.16	10%	\$	63.14	1 bag	500	\$	63.14	\$31,572.00
175	1000B38	Sterile culture tubes, 12x75, w/2 position cap, PS	Misc. Expendable Supply	\$ 108.47	1000	\$	0.11	10%	\$	0.10	1 tube	1,000	\$	0.10	\$97.62
176	8929 E01	SYRINGE 1001 LTN GT 1.0ML	Misc. Expendable Supply	\$ 78.17	1	\$	78.17	10%	\$	70.35	1 each	1,000	\$	70.35	\$70,353.00
177	8929E09	SYRINGE 1010LTN GT 10ML	Misc. Expendable Supply	\$ 98.48	1	\$	98.48	10%	\$	88.63	1 each	1,000	\$	88.63	\$88,632.00
178	8936H60	SYRINGE 3ML 20GX1.IN.	Misc. Expendable Supply	\$ 23.90	100	\$	0.24	10%	\$	0.22	1 each	1,000	\$	0.22	\$215.10
179	1229P20	SYRINGE FILTER ACRODISC NYL 0.2uM	Misc. Expendable Supply	\$ 190.62	50	\$	3.81	10%	\$	3.43	1 each	1,000	\$	3.43	\$3,431.16
180	8600B27	SYRINGE FILTER,25MM,0.45UM ,PTFE,NS,IND,1/50	Misc. Expendable Supply	\$ 149.06	50	\$	2.98	10%	\$	2.68	1 each	1,000	\$	2.68	\$2,683.08
181	9212K21	TEST TUBE 100 X 13MM.	Misc. Expendable Supply	\$ 373.63	144	\$	2.59	10%	\$	2.34	1 tube	1,000	\$	2.34	\$2,335.19
182	2903J32	TOWLET DISCIDE 6X6.75 CAN	Misc. Expendable Supply	\$ 35.34	50	\$	0.71	10%	\$	0.64	1 each	500	\$	0.64	\$318.06

											-					
•	stration purs only	cription - All references to and vendors may be the bri qual product.	brand names and listed or an		D	iscounted l	Jniv	rice C	Calculation	n			Bid Total	l Cal	culati)
Item No.	Manufacturer Product No.	Description	Category		alogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage		counted it Price	Unit (For Calculation Purposes)	Estimated Unit Qty		ounted t Price	Item Total Cost
183		TRANSFERPETTE	Misc. Expendable Supply	\$	336.74	1	\$	336.74	10%	\$	303.07	1 each	100	\$	303.07	\$30,306.60
184		TUBING 1/2X1	Misc. Expendable Supply	\$	221.22	10	\$	22.12	10%	\$	19.91	1 ft	100	\$	19.91	\$1,990.98
185	0011110		Misc. Expendable Supply	\$	87.84	50	\$	1.76	10%	\$	1.58	1 ft	100	\$	1.58	\$158.11
	00.1000	VACTNR 367815 6ML RED	Misc. Expendable Supply	\$	35.13	100	\$	0.35	10%	\$	0.32	1 each	100	\$	0.32	\$31.62
186	0000202	WASH BOTTLE 250 ML.	Misc. Expendable Supply	\$	68.23	12	\$	5.69	10%	\$	5.12	1 bottle	144	\$	5.12	\$736.88
187 VI.	Misc. Equipment	IVIC.	ССРР													
		BENCH/PORT CONDUCTIVITY	Misc. Equipment	\$	540.89	1	\$	540.89	10%	\$	486.80	1 each	10	\$	486.80	\$4,868.01
188	1235C70	BIG DIGIT	Misc.	s	38.14	1	\$	38.14	10%	\$	34.33	1 each	20	\$	34.33	\$686.52
189	9338E70	THERMOMETER	Equipment Misc.		668.20		\$	668.20	10%	\$	601.38	1 each	20	\$	601.38	\$12,027.60
190	7230R76	Bod Probe 5010	Equipment Misc.	\$	9.38		\$	0.78	10%	\$	0.70	1 bulb	144	\$	0.70	\$101.30
191	1951F15	BULB 11X6MM	Equipment Misc.	\$	8.48		\$	0.71	10%	\$	0.64	1 bulb	144	\$	0.64	\$91.58
192	1951F25	CG COLUMN DB-	Misc.	\$	521.04		\$	521.04	10%	\$	468.94	1 each	50	\$	468.94	\$23,446.80
193	2713Q89	DB-5.625 30M	Equipment Misc.	\$	526.88		\$	526.88	10%	\$	474.19	1 each	50	\$	474.19	\$23,709.60
194	2713S27	0.25MM 0.25UM ELECTRODE EPOX		\$			\$	356.72	10%	\$	321.05	1 each	50	\$	321.05	\$16,052.40
195	4153N60	TRIODE GENERATOR 7X195MM W/SAW	Misc.				1 \$	895.00	10%	\$	805.50	1 each	20	\$	805.50	\$16,110.00
196	2000005	HCCP FREEZER THERMOMETER	Misc. Equipment	\$		NAME OF	1 \$	3 11.20	0 10%	\$	10.08	1 each	20	\$	10.08	\$201.60

Pricing are for ill	ustration purpuses on	escription - All references to ally and vendors may be the be equal product.	to brand names brand listed or an	Г	Discounted	Un	it . rice	Calculatio	n			Bid Tota	I Ca	alculatic	
Item No.	Manufacturer Product No.	Description	Category	italogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage	-	scounted nit Price	Unit (For Calculation Purposes)	Estimated Unit Qty	THE TOURS	scounted nit Price	Item Total Cost
198	1233L62	HOTPLATE CIMAREC ALUM 120V 7X7	Misc. Equipment	\$ 353.07	1	\$	353.07	10%	\$	317.76	1 each	20	\$	317.76	\$6,355.26
199	6625B38	ILLUMINATOR 150W MI-150 115V	Misc. Equipment	\$ 358.61	<u> </u>	\$	358.61	10%	\$	322.75	1 each	20	\$	322.75	\$6,454.98
200	2715N69	The Control of Part 10 - Switz Agents with 100 and Agents	Misc. Equipment	\$ 14.65	1	\$	14.65	10%	\$	13.19	1 each	50	\$	13.19	\$659.25
201	1235C95	INFRARED THERMOMETER GUN	Misc. Equipment	\$ 230.16	1	\$	230.16	10%	\$	207.14	1 each	20	\$	207.14	\$4,142.88
202	2715H27	INSULATOR ULTRA	Misc. Equipment	\$ 101.74	1	\$	101.74	10%	\$	91.57	1 each	20	\$	91.57	\$1,831.32
203	5152M18	LABTOP COOLER JR CLR -20C	Misc. Equipment	\$ 120.32	1	\$	120.32	10%	\$	108.29	1 each	20	\$	108.29	\$2,165.76
204	6625B53	LAMP QRTZ HALGN F/3000+3200	Misc. Equipment	\$ 34.35	1	\$	34.35	10%	\$	30.92	1 each	20	\$	30.92	\$618.30
205	2715H33	LAMP TUNGSTEN ASSEMBL G1315A	Misc. Equipment	\$ 162.54	1	\$	162.54	10%	\$	146.29	1 each	20	\$	146.29	\$2,925.72
206	2714T27	GLASWL DEACT PK25	Misc. Equipment	\$ 656.53	25	\$	26.26	10%	\$	23.64	1 each	25	\$	23.64	\$590.88
207	1235D23	LOLLIPOP WATERPROOF THERMOM	Misc. Equipment	\$ 27.35	1	\$	27.35	10%	\$	24.62	1 each	20	\$	24.62	\$492.30
208	8294D17	SHAKER VORTEX GENIE 2 120 V	Misc. Equipment	\$ 404.29	1	\$	404.29	10%	\$	363.86	1 each	25	\$	363.86	\$9,096.53
209	4260E80	ORGANIZER PH METER SMALL	Misc. Equipment	\$ 94.50	1	\$	94.50	10%	\$	85.05	1 each	20	\$	85.05	\$1,701.00
210	7735E10	PIPET CALABRATION KIT	Misc. Equipment	\$ 255.37	1	\$	255.37	10%	\$	229.83	1 kit	15	\$	229.83	\$3,447.50
211	9329C33	POCKET THERMOMETER 4050	Misc. Equipment	\$ 34.05	1	\$	34.05	10%	\$	30.65	1 each	20	\$	30.65	\$612.90
212	8320140	SIEVE 12" FH BF/SC #100	Misc. Equipment	\$ 190.88	1	\$	190.88	10%	\$	171.79	1 each	25	\$	171.79	\$4,294.80
213	8320 44	SIEVE 12" FH BF/SC #200	Misc. Equipment	\$ 253.85	1	\$	253.85	10%	\$	228.47	1 each	25	\$	228.47	\$5,711.63

	page Eligibl n D llustration pur, ses o	Description - All references only and vendors may be the equal product.	to brand names brand listed or an		1	Discounted	Un	i dice	Calculatio	n			Bid Tota	l Ca	alculati	
Item No.	Manufacturer Product No.	Description	Category	С	atalogue Price	Units Provided for Catalogue Price	1	Unit Price	Discount Percentage		iscounted Init Price	Unit (For Calculation Purposes)	Estimated Unit Qty		scounted nit Price	Item Total Cost
214	8319Y13	SIEVE FULL 8" SS/BRASS #8	Misc. Equipment	\$	85.20		\$	85.20	10%	\$	76.68	1 each	50	\$	76.68	\$3,834.00
215	8319Y16	SIEVE FULL 8" SS/BRASS #10	Misc. Equipment	\$	85.20	1	\$	85.20	10%	\$	76.68	1 each	50	\$	76.68	\$3,834.00
216	8319Y61	SIEVE FULL 8" SS/BRASS #100	Misc. Equipment	\$	86.55	1	\$	86.55	10%	\$	77.90	1 each	50	\$	77.90	\$3,894.75
217	8319Y73	SIEVE FULL 8" SS/BRASS #200	Misc. Equipment	\$	117.43	1	\$	117.43	10%	\$	105.69	1 each	50	\$	105.69	\$5,284.35
218	8945C04	SAFETY POUCH STAND	Misc. Equipment	\$	23.50	1	\$	23.50	10%	\$	21.15	1 each	15	\$	21.15	\$317.25
219	2714T63	SEPTA BLD/TMP INLT 11MM	Misc. Equipment	\$	84.54	50	\$	1.69	10%	\$	1.52	1 each	20	\$	1.52	\$30.43
220	1228A15	SETTLOMETER JAR W/COVER-PC	Misc. Equipment	\$	127.73	1	\$	127.73	10%	\$	114.96	1 each	20	\$	114.96	\$2,299.14
221	1224V51	RESPK 20 200 1000 UL EP	Misc. Equipment	\$	910.42	1	\$	910.42	10%	\$	819.38	1 each	25	\$	819.38	\$20,484.45
222	2903L05	SOFTCIDE PUMP 32 OZ.	Misc. Equipment	\$	41.74	32	\$	1.30	10%	\$	1.17		*****	\$	1.17	\$29.35
223	8339Q46	SPATULA,FLAT END/SPOON,S,IND,1/ 100	Misc. Equipment	\$	240.69	100	\$	2.41	10%	\$	2.17	1 oz 1 each	25	\$	2.17	\$43.32
224	7683X50	STEPTIP 0.5ML	Misc. Equipment	\$	121.88	100	\$	1.22	10%	\$	1.10	1 tip	1,000	\$	1.10	\$1,096.92
225	7683X74	STEPTIP ST 1.25ML	Misc. Equipment	\$	82.13	50	\$	1.64	10%	\$	1.48	1 tip	1,000	\$	1.48	\$1,478.34
226	8614R09	STIRRER S-18520 240V	Misc. Equipment	\$	461.30	1	\$	461.30	10%	\$	415.17	1 stirrer	1,000	\$	415.17	\$415,170.00
227			Misc. Equipment	\$	63.31	1	\$	63.31	10%	\$	56.98			\$	56.98	\$1,139.58
228	7733T99		Misc. Equipment	\$	25.60	100	\$	0.26	10%	\$	0.23	1 each	20	\$	0.23	\$115.20
229	1220R19	TUBE CENTRIFUGE 15mL RACK STRL BLUE	Misc. Equipment	\$	243.89	500	\$	0.49	10%	\$	0.44	1 tip	500	\$	0.44	\$219.50
230	2890B17	W/DTIME HT 117V	Misc. Equipment	\$	546.43	1	\$	546.43	10%	\$	491.79	1 each	25	\$	491.79	\$12,294.68
231	12/2/2 25 00	and a second control of the second	Misc. Equipment	\$	868.73	1	\$	868.73	10%	\$	781.86	1 each	20	\$	781.86	\$15,637.14

Pricing	page Eligibl 1 De	escription - All references	11 63134	11												
		nly and vendors may be the equal product.	to brand names brand listed or an		Ι	Discounted	Un	it . ice	Calculatio	n			Bid Tota	l Ca	lculation	
Item No.	Manufacturer Product No.	Description	Category		talogue Price	Units Provided for Catalogue Price		Unit Price	Discount Percentage		scounted nit Price	Unit (For Calculation Purposes)	Estimated Unit Qty	2000	scounted nit Price	Item Total Cost
VII.	Biotechnology Product															
232	2902G05	ALCONOX. 4 LB. BX	Biotechnology Product	\$	56.29	4	\$	14.07	2%	\$	13.79	1 lb	100	\$	13.79	\$1,379.11
233	2902L10	DETERGENT ALCOTABS	Biotechnology Product	\$	38.91	100	\$	0.39	2%	\$	0.38	1 tab	500	\$	0.38	\$190.66
VIII.	Safety Equipment											1 0000000				
234	1230Y87	BAGS BIOHAZARD AUTOCLAVE RED 8x12	Safety Equipment	\$	149.34	400	\$	0.37	6%	\$	0.35	1 each	1,000	\$	0.35	\$350.95
235	1216Z69	FOAM EARPLUGS DECI4200	Safety Equipment	\$	68.67	50	\$	1.37	6%	\$	1.29	1 pair	500	\$	1.29	\$645.50
236	5762G52	Glove, Latex, Aloe, Small	Safety Equipment	\$	148.00	100	\$	1.48	6%	\$	1.39	1 glove	1,000	\$	1.39	\$1,391.20
237	8945G65	SHARPS COLLECTORS 6.9 QT	Safety Equipment	\$	104.42	12	\$	8.70	6%	\$	8.18	1 each	20	\$	8.18	\$163.59
238	1135C28	SHOE CVR SMS UV	Safety Equipment	\$	107.98	400	\$	0.27	6%	\$	0.25	1 cover	500	\$	0.25	\$126.88
239	1135C55	SLEEVE STERI 21.5"	Safety Equipment	\$	149.30	30	\$	4.98	6%	\$	4.68	1 each	50	\$	4.68	\$233.90
IX.	Miscellaneous															
240	1232W53	BOEKEL SLIDE CABINET 21X17X6	Miscellaneous	\$	268.28	1	\$	268.28	2%	\$	262.91	1 each	5	\$	262.91	\$1,314.57
241	0563X69	NAOH PELLETS 1KG UN1823-8	Miscellaneous	\$	43.66	1	\$	43.66	2%	\$	42.79	1 kG	500	\$	42.79	\$21,393.40
242	and the control of the control of	Non-Sterile Solution Basin PVC 55ml	Miscellaneous	\$	74.92	100	\$	0.75	2%	\$	0.73	1mL	500	\$	0.73	\$367.11

Vendors should complete all columns

TOTAL COST

BID:

List of Discount Percentages:

(Use additional sheets if needed for number of discount percentages being offered.)

	Category	DISCOUNT		
1	Lab Chemicals	2%		
ΙĮ	Culture Media	5%		
111	Plasticware	87.		
N	Glassware	17%		
٧	Miscellaneous Expendable Supply	10%		
VI	Miscellaneous Equipment	10%		
VII	Biotechnology Product	21.		
VIII	Safety Equipment	6%		
IX	Miscellaneous			

See attached pages for additional discounts

VENDOR INFORMATION:
VENDOR NAME: VWR International, LLC.
CONTACT NAME: George Mackey
ADDRESS: 1050 Satellite Blvd
Suwanee, GA 30024
PHONE: 800-932-5000
FAX: 484-881-6575
FEIN: _56-2445503
EMAIL: usbids@vwr.com
AUTHORIZED REPRESENTATIVE: JOHN MC MM
(Signature)

ADDENDUM ACKNOWLEDGEMENT FORM **SOLICITATION NO.: LABSUP13**

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the

necessary revisions to my proposal, plans and/or specification, etc.										
Addendum Numbers Received: (Check the box next to each addendum received)										
	[]	Addendum No. 1	[]	Addendum No. 6				
]	Addendum No. 2]]	Addendum No. 7				
]]	Addendum No. 3	1]	Addendum No. 8				
	Į.]	Addendum No. 4]]	Addendum No. 9				
	[x]	Addendum No. 5]]	Addendum No. 10				
I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.										
VWR International, LLC. Company Authorized Signature										
				_2	2/2	5/2013 Date				

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.